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TNPSC GROUP-I PRELIMINARY EXAM 03.01.2021 
 
 
 
 

S.NO SUBJECT NO.OF.QUESTIONS 
1.  UNIT-I : GENERAL SCIENCE  

 i. Physics 6 

 ii. Chemistry 4 

 iii. Botany 3 

 iv. Zoology 2 

 v. EVS  3 

 Total  18 

   

2.  UNIT-II: CURRENT EVENTS  

 i. CA 13 

 ii. GK 3 

 Total  16 

   

3.  UNIT- III: GEOGRAPHY OF INDIA 15 

   

4.  UNIT – IV: HISTORY AND CULTURE OF 

INDIA 

 

 i. Ancient India 5 

 ii. Medieval India 4 

 iii. South Indian History 1 

 iv. Modern India 2 

 Total  12 

   

SUBJECT WISE ANALYSIS & CATEGORIZATION OF QUESTIONS 
WITH ANSWER KEYS 
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5.  UNIT-V: INDIAN POLITY 24 

   

6.  UNIT-VI: INDIAN ECONOMY 13  

 CA 6 

 Total 19 

   

7.  UNIT-VII: INDIAN NATIONAL 

MOVEMENT 

10 

   

8.  UNIT- VIII : History, Culture, Heritage and 

Socio - Political Movements in Tamil Nadu 

37  

 i. Thirukkural 9 

 ii. CA 1 

 Total  47 

9.  UNIT – IX : Development Administration 

in Tamil Nadu 

10 

 i. Economy  2 

 ii. CA 2 

 Total 14 

10.  UNIT-X: APTITUDE AND MENTAL 

ABILITY 

25 

 

1.  
UNIT- VIII : History, Culture, Heritage and 

Socio - Political Movements in Tamil Nadu 
46 

2.  History 22 

3.  Polity 24 

4.  Economy 13 

5.  Science & EVS 18 

6.  Geography 15 

7.  
UNIT – IX : Development Administration in 

Tamil Nadu 
12 

8.  Current Affairs & GK 25 

9. Aptitude and Mental Ability 25 
 TOTAL  200 
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UNIT-I: GENERAL SCIENCE 

 
PHYSICS 
 

1. If a simple pendulum with the mass of the bob as „M‟ has a time period 
„T‟ then in the same pendulum another bob with mass 2M replaces the 
original bob. Now time period is (it may be assumed that the string 
attached to the bob has no mass) 

a. 2T  b. 
2

T   c. T  d. 3

2

T   e. Answer not known 

M vd;w epiw nfhz;l xU jdpt+rypd; (simple pendulum) miyT 
Neuk; T vd cs;sJ. gpd; mj;jdpt+rypd; Crw;Fz;L khw;wg;gLtjhy; 
mjd; epiw 2M Mf khWfpwJ. jw;NghJ mjd; miyTNeufk; vd;dthf 
,Uf;Fk;? (Crw;Fz;il jhq;Fk; ,io epiwaw;wjhf fUjyhk;) 

a. 2T  b. 
2

T   c. T  d. 3

2

T  e. tpil njhpatpy;iy 

 
2. Silicon is one of the best-known semi conducting material. As its 

temperature more, it becomes a better conductor. But the temperature at 
which the silicon permanently damages is 
a. 100°C  b. 150°C    c. 200°C  
d. 250°C  e. Answer not known   
rpypf;fhd;> rpwe;j mwpag;gl;l Fiwflj;jpfspy; xd;whFk;. Mjd; 
ntg;gepiy mjpfhpf;ifapy; mJ rpwe;j flj;jpahfpwJ. Mdhy; xU 
ntg;gepiyapy; rpypf;fhd; epue;jukhf nraypog;gJ 
a. 100°C   b. 150°C   c. 200°C  
d. 250°C   e. tpil njhpatpy;iy 
 

3. A rock containing the fluorescing calcite is illuminated by ultraviolet 
light. Then, the colour of the rock seems to be 
a. Violet b. Blue  c. Green d. Red e. Answer not known
  
xsp ckpOk; fhy;irl;ilf; nfhz;l xU ghiw GwCjh xspahy; 
xsph;tpf;fg;gLfpwJ. mg;NghJ> ghiwapd; epwkhfj; Njhd;WtJ 
a. Cjh  b. ePyk; c. gr;ir d. rptg;G e. tpil njhpatpy;iy 
 

4. Raman effect is scattering by 
a. Pure Solids  b. Pure Liquids  c. Pure Gases 
d. Impure Gases  e. Answer not known 
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,uhkd; tpisT vt;tif xspr;rpjwy; 
a. J}a;ikahd jplg;nghUl;fspy; epfOk; xspr;rpjwy; 
b. J}a;ikahd jputq;fspy; epfok; xspr;rpjwy; 
c. J}a;ikahd thAf;fspy; epfOk; xspr;rpjwy; 
d. J}a;ikaw;w thAf;fspy; epfOk; xspr;rpjwy; 
e. tpil njhpatpy;iy 
 

5. On rear wheel drive cars, with the engine in front it is a common practice 
to weight down the trunk in order to increase safety, when driving on 
a. Icy roads   b. Muddy roads  c. Hill roads 
d. Plane road   e. Answer not known 
Kd;gf;f ,ae;jpuk; nfhz;l gpd; rf;fu ,af;fp fhh;fspy; ghJfhg;gpw;fhf 
jz;L Rik Fiwg;gJ ve;j gFjpapy; Xl;Ltjw;fhf 
a. gdpf;fl;b rhiyfs; b. Nrw;Wr;rhiyfs; c. kiyr;rhiyfs; 
d. rkjs rhiyfs; e. tpil njhpatpy;iy 
 

6. Water drop in space is spherical because in the absence/reduced effects 
of gravity the forces governing the objects are all the same and therefore 
the drop. 
a. Attains a shape having the least amount of surface area. 
b. Attains a shape having the maximum amount of surface area  
c. Attains a shape having the least volume  
d. Attains a shape having the maximum volume  
e. Answer not known 
tpz;ntspapy; <h;g;G tpir ,y;yhjjdhy; / Fiwthf ,Ug;gjdhy;> 
nghUs;fspd; kPjhd midj;J tpirfSk; rkkhf ,Uf;fpwJ. ,jdhy; 
tpz;ntspapy; ePh;j;JspahdJ nfhstbtk; ngWfpwJ. mt;thW Nfhs 
tbtk; vLg;gjdhy;> ePh;j;Jsp  
a. kpff; Fiwthd Nkw;gug;G nfhz;l tbtj;ij Vw;fpwJ 
b. kpf mjpfkhd Nkw;gug;G nfhz;l tbtj;ij Vw;fpwJ  
c. kpff; Fiwthd gUkd; nfhz;l tbtj;ij Vw;fpwJ.  
d. kpf mjpfkhd gUkd; nfhz;l tbtj;ij Vw;fpwJ.  
e. tpil njhpatpy;iy  
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CHEMISTRY  
 

1. In the Haber‟s process for the manufacture of ammonia 
a. Finely divided iron is used as a catalyst 
b. Finely divided molybdenum is used as a catalyst 
c. Finely divided nickel is used as a catalyst 
d. No catalyst is required 
e. Answer not known 
N`gh; nray;Kiwapy;> mk;Nkhdpah jahhpj;jypy; 
a. rpW Jfs;fshf;fg;gl;l ,Uk;G tpida+f;fpahf gad;gLfpwJ 
b. rpW Jfs;fshf;fg;gl;l khypg;gpbdk; tpisa+f;fpahf gad;gLfpwJ 
c. rpW Jfs;fshf;fg;gl;l epf;fy; tpida+f;fpahf gad;gLfpwJ 
d. ve;j tpida+f;fpAk; Njitg;gLtjpy;iy 
e. tpil njhpatpy;iy 
 

2. What are isotones? 
a. Atoms have same number of protons but different number of 

neutrons 
b. Atoms have same number of neutrons but different number of 

protons 
c. Atoms have same number of protons and neutrons 
d. Atoms of the same element with different masses 
e. Answer not known 
INrhNlhd;fs; vd;gd ahit? 
a. Xj;j GNuhl;lhd; vz;zpf;ifAk; khWgl;l epa+l;uhd; vz;zpf;ifAk; 

cila mZf;fs; 
b. Xj;j epa+l;uhd; vz;zpf;ifAk; khWgl;l GNuhl;lhd; vz;zpf;ifAk; 

cila mZf;fs; 
c. Xj;j GNuhl;lhd; kw;Wk; epa+l;uhd; vz;zpf;ifAk; cila mZf;fs; 
d. khWghl;l epiwAila xNu jdpkj;jpd; mZf;fs; 
e. tpil njhpatpy;iy 
 

3. The common table salt is 
a. Compound  b. Element   c. Mixture 
d. Alloy    e. Answer not known 
nghJ Nkir cg;ghdJ 
a. Nrh;kk;   b. jdpkk;   c. fyit 
d. cNyhff;fyit  e. tpil njhpatpy;iy 
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4. Specific experiments 

1. Blue Litmus paper is dipped into hydrochloric acid and it is changed 
into Red colour 

2. Blue Litmus paper is dipped into oxalic acid and it is changed into 
Red colour 

3. Blue Litmus paper is dipped into sulfuric acid and it is changed into 
Red colour 

General Law: Acid is turned into blue litmus red. It is called _________ 
Reasoning. 
a. Deductive  b. Critical  c. Everyday 
d. Inductive  e. Answer not known 
rpwg;G Nrhjidfs; 
1. ePy ypl;k]; jhis i`l;Nuh FNshhpf; mkpyj;jpy; eidj;jhy;> mJ 

rptg;ghf khWk; 
2. ePy ypl;k]; jhis Mf;rhypf; mkpyj;jpy; eidj;jhy;> mJ rptg;ghf 

khWk; 
3. ePy ypl;k]; jhis fe;jf mkpyj;jpy; eidj;jhy;> mJ rptg;ghf 

khWk; 
nghJ tpjp: mkpykhdJ ePy ypl;k]; jhis rptg;ghf khw;Wk;. ,J 
______ Ma;e;jwpjy; vd miof;fg;gLk; 

a. gFj;jwp   b. FiwfhZk;  c. jpde;NjhWk; 
d. njhFj;jwp   e. tpil njhpatpy;iy 

 
 

BOTANY 
 

1. The pollutant which cause impairment in plant metabolism is 
a. Nitrous oxide  b. Carbon di oxide c. sulphur di oxide 

d. Carbon mono oxide e. Answer not known 
jhtu tsh;rpij khw;wj;jpy; Fiwg;ghl;il Vw;gLj;Jk; khR 
a. iel;u]; Mf;irL b. fhh;gd; il Mf;irL c. rh;gh;-il-Mf;irL 
d. fhh;gd; Nkhdhf;irL e. tpil njhpatpy;iy 
 

2. The colour of the skin in ripened apple, tomato and grape fruits is due to 
accumulation of 
a. Carotenoid   b. Lycopene  c. Anthocyanin 

d. Ethylene   e. Answer not known 
gOj;j Mg;gps;> jf;fhsp kw;Wk; jpuhl;irapd; Njhypd; epwj;jpw;Ff; fhuzk; 
a. fNuhl;bdha;L  b. iyf;NfhgPd;  c. Md;Njhiradpd; 
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d. vj;jpypd;   e. tpil njhpatpy;iy 
 

3. Single cell Eukaryotes are included in 
a. Fungi   b. Monera    c. Protista  
d. Archea  e. Answer not known 
xw;iwr;nry; a+NfhpNahl;Lf;fs; ,tw;Ws; vjpy; mlq;FfpwJ? 
a. g+Q;ir  b. nkhdpuh    c. GNuhl;b];lh 
d. Mh;f;fpah  e. tpil njhpatpy;iy 
 

ZOOLOGY  
 

1. Kidney stones are formed by the Precipitation of the following chemicals 
I. Cystine  II. Oxalate  III. Uric acid  IV. Sodium 
a. I and II  b. I, II and III   c. III and IV 
d. I, II, III and IV e. Answer not known 
ve;j ,urhad nghUl;fs; gbtj;jpd; %yk; rpWePuf fw;fs; cUthfpd;wd 
I. rp];Bd;  II. Mf;]Nyl; III. a+hpf; mkpyk; IV. Nrhbak; 
a. I kw;Wk; II  b. I, II kw;Wk; III  c. III kw;Wk; IV 
d. I, II, III kw;Wk; IV e. tpil njhpatpy;iy 
 

2. According to Darwin, speciation is effected by 
a. small continuous heritable variation  
b. small continuous non heritable variation  
c. Sudden heritable variation   d. sudden discontinuous variation  
e. Answer not known 
lhh;tpd; $w;Wg;gb ,dq;fs; vjd; %yk; Njhw;Wtpf;fg;gLfpd;wd?  
a. rpwpa njhlh; kuG rhh;e;j khWghL  
b. rpwpa njhlh; kuG my;yhj khWghL  c. jpBh; kuG rhh;e;j khWghL  
d. jpBh; njhlh;r;rpaw;w khWghL   e. tpil njhpatpy;iy  

 

EVS   
 

1. The major cause for the depletion of Ozone is 
a. Aerosol   
b. Hydrogen Sulphide  
c. Hydrogen Sulphate 
d. Carbon di oxide  
e. Answer not known 
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XNrhid mopf;Fk; Kf;fpa fhuzp 
a. J}Rg;glyk;  
b. i`l;u[d; ry;/igL  
c. i`l;u[d; ry;/Ngl; 
d. fhh;gd;il Mf;irL  
e. tpil njhpatpy;iy 
 

2. The word “Sustainable Development” is clearly indicative of the fact that 
a. Natural assets are finite   
b. Natural assets are infinite 
c. Natural assets are not resources 
d. Present model of Development promotes stability in nature 
e. Answer not known 
“epiy epWj;Jk; mgptpUj;jp” vDk; thh;j;ij Js;spakhf Fwpg;gJ 
a. ,aw;if nrhj;Jf;fs; KbTwf;$baJ 
b. ,aw;if nrhj;Jf;fs; KbTwhjJ 
c. ,aw;if nrhj;Jf;fs; tsq;fs; my;y 
d. jw;Nghija tsh;r;rp khjphp ,aw;if ];jpuj;jd;ikia Cf;Ftpf;fpwJ 
e. tpil njhpatpy;iy 
 

3. The term biodiversity indicates 
a. Species richness and genetic variation 
b. Species richness and habitat diversity 
c. Genetic variation and diverse ecosystems 
d. Species richness alone 
e. Answer not known 
gy;Yaphpak; my;yJ caphpg;gd;kak; vd;w gjk; Fwpg;gpLtJ 
a. ,dr;nrOik kw;Wk; kugZ NtWghL 
b. ,dr;nrOik kw;Wk; tho;tplg; gd;kak; 
c. kugZ NtWghL kw;Wk; gy;tif Royikg;Gfs; 
d. ,dr;nrOik kl;Lk; 
e. tpil njhpatpy;iy 
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UNIT-II: CURRENT EVENTS 

 
1. A super computer that allows researchers to model energy technologies 

un artificial intelligence is 
a. Joule 2.0  b. Watt computer  c. Zetta scaler  
d. Fugaku   e. Answer not known 
khjphp Mw;wy; njhopy;El;gj;jpid Muha;r;rpahsh;fs; nraw;if 
Ez;zwpT %yk; tbtikf;f nra;Ak; Nkk;gl;l fzpdp 
a. [{y; 2.0  b. thl; fzpdp   c. rPl;lh ];Nfyh; 
d. g+fhf;F  e. tpil njhpatpy;iy 

 
2. Which of the following (Book-Author) is wrongly matched? 

a. Half Girl fiend     - Chetan Bhagat 
b. My country my life    - Dalai Lama 
c. Born again on the mountain  - Arunimasinha 
d. The country of first boys   - Amartya Sen 
e. Answer not known 
fPo;f;fhzg;gLk; Gj;jfq;fs; kw;Wk; mjd; vOj;jhsh;fspy; jtwhf 
nghWj;jg;gl;Ls;sJ vJ? 
a. `hg;fh;y;/g;uz;l;    - Nrjd; gfj; 
b. vd; Njrk; vd; tho;f;if   - jiy yhkh 
c. kiy kPJ kPz;Lk; gpwe;Njd;  - mUzpkh]pd;`h 
d. Kjy; Mz;gps;isfspd; Njrk;  - mkh;j;a nrd; 
e. tpil njhpatpy;iy 

 
3. Where was the venue of the 3rd Global conference on road safety in 

collboratin with WHO and world Bank in 2020 
a. Stockholm  b. California  c. Holland 
d. Geneva  e. Answer not known 
2020apy; cyf Rfhjhu epWtdk; (WHO) kw;Wk; cyf tq;fp (World 
Bank) ,ize;J rhiy ghJfhg;G gw;wpa 3tJ rh;tNjr fUj;juq;F 
eilngw;w ,lk; vJ? 
a. ];lhf;N`hk;  b. Nfyp/ghh;dpah  c. N`hyhe;J 
d. n[dpth   e. tpil njhpatpy;iy 
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4. Agriculture Information Service Network (AGRISNET) was launched for 
providing following information viz., 
I. Rainfall  
II. Fertilizers position  
III. Minimum Support price  
IV. Sister departments of farm community  
Select the appropriate combination  
a. I, II and III   b. I, II and IV    c. I, III and IV  
d. II, III and IV   e. Answer not known 
tptrha jfty; Nrit tiyaikg;G fPo;fhZk; njhFg;gpy; cs;s 
jfty;fis jUfpwJ.  
I. kio nghopT 
II. cu ,Ug;G epytuk; 
III. Fiwe;jgl;r Mjhu tpiy 
IV. gz;iz r%fj;jpd; Jiz Jiwfs; gw;wp 
rhpahd Nrh;f;ifia Njh;T nra;aTk;.  
a. I, II kw;Wk; III   b. I, II kw;Wk; IV c. I, III kw;Wk; IV  
d. II, III kw;Wk; IV   e. tpil njhpatpy;iy  

 
5. According sustainable Development Goal India Index 2019, brought out 

by NITI Ayog for the year 2019, Tamil Nadu stands.  
a. First   b. Second  c. Third d. Fourth e. Answer not known 
2019 k; Mz;L epjp MNahf; ntspapl;l ,e;jpahtpd; epiyf;fj;jf;f 
tsh;r;rpf;fhd ,yf;Ffs; FwpaPl;by;> jkpo;ehL ngw;wpUf;Fk; ,lk;  
a. KjyhtJ    b. ,uz;lhtJ   c. %d;whtJ   
d. ehd;fhtJ   e. tpil njhpatpy;iy  

 
6. Athikadavu – Avanashi scheme is relatedto  

a. Drop irrigation      
b. Pour – irrigation  
c. Drinking water and well Recharge  
d. Drinking water and Ground water Recharge  
e. Answer not known 
mj;jpflT – mtpehrp jpl;lk; vd;gJ fPo;tUtdtw;Ws; vjDld; 
njhlh;GilaJ?  
a. nrhl;L ePh; ghrdj; jpl;lk;  
b. njspg;G ePh; ghrdj;;jpl;lk;  
c. FbePh; kw;Wk; fpzWfs; nrwpT+l;Lk; jpl;lk;  
d. FbePh; kw;Wk; epyj;jb ePh; nrwpT+l;Lk; jpl;lk;  
e. tpil njhpatpy;iy  
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7. Which is the first state to employ differently abled, in the Mahatma 

Gandhi National Rural Employment Guarantee Scheme? 
a. Kerala  b. Tamilnadu   c. Gujarat   
d. Karnataka   e. Answer not known 
kfhj;kh fhe;jp Njrpa Cuf Ntiy cWjpj; jpl;lj;jpy;> khw;Wj; 
jpwdhspfis gzpakh;j;jpa Kjy; khepyk; vJ?  
a. Nfush   b. jkpo;ehL    c. F[uhj;  
d. fh;ehlfh   e. tpil njhpatpy;iy  
 

8. In January 2019, Indian Government approved the merger of three 
Banks. Which of the following does not figure in merger?  
a. Dena Bank   b. Vijaya Bank   c. Bank of Baroda   
d. Lakshmi Vilas Bank   e. Answer not known 
[dthp 2019 y; %d;W tq;fpfis xUq;fpizf;f ,e;jpa muR mDkjp 
toq;fpaJ. fPo;fz;l vt;tq;fp ,e;j xUq;fpizg;gpy; ,lk; ngwtpy;iy?  
a. Njdh tq;fp    b. tp[ah tq;fp  
c. gNuhlh tq;fp   d. y~;kp tpyh]; tq;fp  
e. tpil njhpatpy;iy  

 
Covid  
 

9. Which of the following facts about Covid-19 virus is/are wrong? 
a. People who have been infected by the virus but do not have 

symptoms do not spread virus 
b. Reinfection is not possible 
c. Anosmia (loss of smell) is a symptom  
d. Babies do not get infected by Corona virus 
a. (a) and (b) only b. (a) (b) and (d)   c. (c) only 
d. (d) only   e. Answer not known 
Nfhtpl; - 19 itu]; njhlh;ghd fPo;f;fhZk; $w;Wfspy; jtwhd $w;iw 
/ $w;Wfis Njh;T nra;aTk; 
a. itu]; njhw;W Vw;gl;bUg;gpDk;> mwpFwpfs; ,y;yhjth;fshy; njhw;W 
guthJ 

b. xUKiw njhw;W Vw;gl;l egUf;F kPz;Lk; njhw;W Vw;glhJ 
c. „Kfh;e;J czUk; jd;ik ,og;G‟ - ,j;njhw;wpd; mwpFwpahFk; 
d. Foe;ijfSf;F ,j;njhw;W guthJ 
a. (a) kw;Wk; (b) kl;Lk; b. (a) (b) kw;Wk; (d)  c. (c) kl;Lk;  
d. (d) kl;Lk;   e. tpil njhpatpy;iy 
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10. Which of the following statements is/are true related to COVID-19? 

a. Adding pepper to your soup prevents COVID-19 
b. COVID -19 is transmitted through houseflies 
c. 5G communication networks spread COVID-19 
d. Sun light does not protect oneself from COVID-1 
a. (a) and (b) only b. (c) and (d) only  c. (c) only 
d. (d) only   e. Answer not known 
Nfhtpl;-19 njhlh;ghd fPo;f;fhZk; $w;Wfspy; rhpahd $w;iw / 
$w;Wfis Njh;T nra;aTk; 
a. ehk; gUFk; fQ;rpapy; (#g;) kpsF Nrh;g;gjhy; ,e;Neha; njhw;iw 

jLf;fyhk; 
b. tPl;by; cs;s <f;fs; %ykhf ,j;njhw;W guTk; 
c. 5G njhiyj;njhlh;g tiyapd; %ykhf Nfhtpl; 19 guTk; 
d. #hpa xsp xUtiu Nfhtpl;-19y; ,Ue;J ghJfhf;fhJ 
a. (a) kw;Wk; (b) kl;Lk;  b. (c) kw;Wk; (d) kl;Lk; 
c. (c) kl;Lk;    d. (d) kl;Lk; 
e. tpil njhpatpy;iy 
 

11. What are the facts related to Hand Sanitizers? 
a. Most of them are acid based and not alcohol based 
b. They are flammable 
c. They are effective against spores 
d. It is correct to nicely wipe off hand sanitizer from the hands before it 
has dried 
a. (a) and (c) only  b. (b) only   c. (d) only 

d. (c) only   e. Answer not known 
if Rj;jpfhpg;ghd; (Hand Sanitizer) njhlh;ghd cz;ikfisj; Njh;T 
nra;aTk;.  
a. ngUk;ghyhdit mkpy mbg;gil rhh;e;jit> My;f`hy; mbg;gil 

rhh;e;jit  my;y  
b. mit ed;whf vhpaf;$bait  
c. mit rpjy;tpijfSf;F vjpuhd nraY}f;fk; nfhz;lit  
d. iffspy; cs;s "ifRj;jpfhpg;ghd;' cyUk; Kd;Ng mjid ed;whf 

iffspypUe;J Jilg;gJ rhpahdnjhU nray; MFk;.  
a. (a) kw;Wk; (b) kl;Lk;  b. (b) kl;Lk;  c. (d) kl;Lk;  
d. (c) kl;Lk;    e. tpil njhpatpy;iy 
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12. What are symptoms of COVID-19? 
a. Fever, dry cough, fatigue  b. Loss of taste 
c. Sore throat    d. Breathing difficulties 
a. (a) only   b. (b) only    c. (d) only  
d. (a), (b), (c) and (d) e. Answer not known 
fPo;fhZk; mwpFwpfspy; Nfhtpl; - 19 njhlh;ghdit vit?  
a. fha;r;ry;> twl;L ,Uky;> Nrhh;T  
b. Rit mwpAk; jpwd; ,y;yhky; NghtJ  
c. njhz;il typ  
d. %r;R tpLtjpy; rpukk;  
a. (a) kl;Lk;    b. (b) kl;Lk;  c. (d) kl;Lk;  
d. (a), (b), (c) kw;Wk; (d)  e. tpil njhpatpy;iy 

 
TAMIL NADU 
 

13. Kalpana Chawala Award for Courage and Daring enterprise in 2020 was 
awarded to 
a. Tmt. Senthamil Selvi    
b. Tmt. Muthammal 
c. Tmt. Ananthavalli   
d. Tmt. Senthamil  Selvi, Tmt. Muthammal, Tmt. Ananthavalli 
e. Answer not known 
tPu nraYf;fhd 2020Mk; Mz;bd; fy;gdh rhTyh tpUJ __________ 
f;F mspf;fg;gl;lJ 
a. jpUkjp. nre;jkpo; nry;tp 
b. jpUkjp. Kj;jk;khs; 
c. jpUkjp. Mde;jts;sp 
d. jpUkjp. nre;jkpo; nry;tp> jpUkjp. Kj;jk;khs;> jpUkjp. Mde;jts;sp 
e. tpil njhpatpy;iy 
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GENERAL KNOWLEDGE  

 
1. Match the sport with the corresponding number of players: 

Sport    No. of Players 
A. Polo   1. 15 
B. Rugby football 2. 11 
C. Hockey   3. 9 
D. Base Ball  4. 4 
 A B C D 
a. 1 3 4 2 
b. 4 1 2 3 
c. 3 1 4 2 
d. 1 4 2 3 
e. Answer not known 
fhzg;gLk; tpisahl;bid mjw;F Njitahd tPuh;fspd; vz;Zld; 
nghUj;Jf 
tpisahl;L  tPuh;fs; vz; 
A. NghNyh   1. 15 
B. uf;gp fhy;ge;J 2. 11 
C. `hf;fp   3. 9 
D. Ng];ghy;  4. 4 
 A B C D 
a. 1 3 4 2 
b. 4 1 2 3 
c. 3 1 4 2 
d. 1 4 2 3 
e. tpil njhpatpy;iy 

 
2. Match the following women personalities with their achievement 

Personality (Name)   Achievement 
A. Anna Rajaram Malhotra 1. India‟s first female to fly an aircraft 
B. Sarla Takral   2. India‟s first female train driver 
C. Arunuma Sinha  3. India‟s first woman IAS officer after  
          Independence 
D. Surekha Yadav   4. First Indian woman amputee to scale  
          Everest 
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 A B C D 
 a. 1 3 4 2 
 b. 3 1 2 4 
 c. 3 1 4 2 
 d. 3 4 2 1 
 e. Answer not known 
fPo;f;fhzg;gLk; ngz; rhjidahsh;fis mth;fs; rhjidAld; rhpahf 
nghUj;Jf 
rhjidahsh;(ngah;)     rhjid 
A. md;dh uh[huhk; ky;N`hj;uh 1. ,e;jpahtpd; Kjy; ngz; tpkhdp 
B. rh;yh jf;uhy;    2. ,e;jpahtpd; Kjy; ngz; ,uapy;  
          Xl;Leh; 
C. mUepkh rpd;`h   3. Rje;jpu ,e;jpahtpd; Kjy; ngz;  
          IAS mjpfhhp 
D. RNufh ahjt;    4. vtu];l; rpfuj;ij mile;j> fhy;  
         Jz;bf;fg;gl;l Kjy; ,e;jpa ngz; 

 A B C D 
 a. 1 3 4 2 
 b. 3 1 2 4 
 c. 3 1 4 2 
 d. 3 4 2 1 
 e. tpil njhpatpy;iy 

 

3. Match the Tourist spots of India with their States 
A. Hampi   1. Andhrapradesh 
B. Horsley Hills  2. Uttarakhand 
C. Hogenakkal  3. Karnataka 
D. Haridwar   4. Tamil Nadu 

 A B C D 
a. 3 1 4 2 
b. 1 2 3 4 
c. 2 4 1 3 
d. 4 3 2 1 
e. Answer not known 

,e;jpahtpd; Rw;Wyhj;jyq;fis mjd; khepyq;fNshL nghUj;Jf 
A. `k;gp    1. Me;jpug;gpuNjrk; 
B. `hh;];Ny Fd;Wfs;  2. cj;jpufhz;l; 
C. xNfdf;fy;   3. fh;ehlfk; 
D. `hpj;Jthh;   4. jkpo;ehL 
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 A B C D 
a. 3 1 4 2 
b. 1 2 3 4 
c. 2 4 1 3 
d. 4 3 2 1 
e.  tpil njhpatpy;iy 

 
UNIT- III: GEOGRAPHY OF INDIA 

 
1. The source of dendrothermal energy is 

a. Biomass   b. Coal   c. Pyrolysis 
d. Natural gas  e. Answer not known 
kuntg;g Mw;wypd; (dendrothermal energy) Mjhuk; vd;gJ 
a. caph;j;jpus;  b. epyf;fhp   c. ntg;grpijT 
d. ,aw;if thA  e. tpil njhpatpy;iy 

 
2. Which of the following is the consequence of climate change related 

warming rivers? 
a. Changes in water salinity b. Changes in fish migration patterns 
c. Changes in pathogen load d. Changes in contaminant levels 

e. Answer not known    
gpd;tUtdtw;wpy; vJ ejpfspd; fhyepiy njhlh;ghd ntg;gkakhjypd; 
tpisT? 
a. ePh; cg;Gj;jd;ik khw;wq;fs;  
b. kPd;fs; ,lg;ngah;T Kiw khw;wq;fs; 
c. Neha;f;fphpkpfs; vz;zpf;if khw;wq;fs; 
d. ePh; mRj;j kl;lj;jpy; khw;wq;fs; 
e. tpil njhpatpy;iy 

 
3. The Chairperson of National Disaster Management Authority is 

a. Prime Minister  b. Home Minister  c. The President 
d. Defense Minister e. Answer not known 
Njrpa Nghplh; Nkyhz;ik Mizaj;jpd; jiyth; 
a. gpujk ke;jphp   b. cs;Jiw ke;jphp  c. [dhjpgjp 
d. ghJfhg;Gj;Jiw ke;jphp e. tpil njhpatpy;iy 

 
4. The most important schedule tribes of Uttar Pradesh and Uttarakhand 

a. Todas  b. Nagas   c. Santhals 
d. Tharus  e. Answer not known 
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cj;jpugpuNjrk; kw;Wk; cj;jufhz;bd; kpf Kf;fpakhd goq;Fbapdh; 
a. Njhlh;  b. ehfh;    c. rhe;jy;]; 
d. jhu];  e. tpil njhpatpy;iy 

 
5. The most populous State of India is 

a. Bihar   b. Maharastra   c. Uttar Pradesh 
d. West Bengal  e. Answer not known 
mjpf kf;fl;njhifia nfhz;l ,e;jpa khepyk; 
a. gPfhh;    b. kfhuh~;buk;   c. cj;jpug;gpuNjrk; 
d. Nkw;F tq;fk;  e. tpil njhpatpy;iy 

 
6. The total no. of railway zones in India are 

a. Fourteen Zones   b. Fifteen Zones  c. Sixteen Zones 
d. Seventeen Zones  e. Answer not known 
(School Book Source: Sixteen Zones) 
,e;jpahtpy; uapy;Nt kz;lyq;fspd; nkhj;j vz;zpf;if 
a. gjpdhd;F kz;lyq;fs;  b. gjpide;J kz;lyq;fs; 
c. gjpdhW kz;lyq;fs;   d. gjpNdO kz;lyq;fs; 
e. tpil njhpatpy;iy 

 
7. __________ soil is found in all the districts of Tamil Nadu except Nilgris 

a. Red soil   b. Black soil  c. Laterite soil 
d. Sandy soil  e. Answer not known 
_______ kz; tif> jkpo; ehl;by; ePyfphpia jtpu kw;w midj;J 
khtl;lq;fspYk; fhzg;gLfpwJ 
a. nrk;kz;   b. fhpry; kz;  c. JUf;fy;kz; 
d. kzy; kz;  e. tpil njhpatpy;iy 
 

8. Identify the option in which the rivers are given in North-south 
sequence 
a. Godavari – Mahanadi – Kaveri – Krishna 
b. Mahanadi – Godavari – Krishna – Kaveri 
c. Krishna – Kaveri – Godavari – Mahanadi 
d. Kaveri – Godavari – Mahanadi - - Krishna 
e. Answer not known 
tlf;F-njw;F thpirapy; MWfs; nfhLf;fg;gl;Ls;s xd;iw milahsk; 

fhz;f 
a. Nfhjhthp - kfhejp - fhNthp – fpU~;zh 
b. kfhejp – Nfhjhthp – fpU~;zh – fhNthp 
c. fpU~;zh – fhNthp – Nfhjhthp – kfhejp 
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d. fhNthp – Nfhjhthp – kfhejp – fpU~;zh 
e. tpil njhpatpy;iy 

 
9. Which of the following rivers originate in Karnataka? 

I. Bhavani  II. Palar  III. Pennaiyar  IV. Cauvery 
Choose the correct one 
a. I, II, III  b. IV, I, II    c. III, IV, I   
d. II, III, IV  e. Answer not known 
fPo;f;fz;ltw;Ws; ve;j MWfs; fh;ehlf khepyj;jpy; cw;gj;jpahfpd;wd? 
I. gthdp  II. ghyhW  III. ngz;izahW IV. fhtphp 
rhpahdtw;iw Njh;e;njLf;fTk; 
a. I, II, III  b. IV, I, II    c. III, IV, I   
d. II, III, IV  e. tpil njhpatpy;iy 

 
10. Pick out the effect that is not related to the impacts of Earthquake 

a. Fissures     b. Collapse  c. Tsunamis 
d. Depression zone formation e. Answer not known 
G+fk;g ghjpg;GfNshL njhlh;gw;w tpisit njhpT nra;f.  
a. gpsTfs;     b. jiukl;lkhjy; c. Rdhkpfs;  
d. jho;T kz;lyk; cUthjy;  e. tpil njhpatpy;iy 

 
11. Match the following 

A. Backwaters  1. Linking up of river system for irrigation 
B. Canals   2. Used of crossing broad river 
C. Dug out Canoe  3. Connecting one water way with other 
D. Dams   4. Used for some limited navigation 

 A B C D 
a. 4 3 2 1 
b. 3 2 1 4  
c. 4 2 3 1 
d. 3 4 2 1 
e. Answer not known 
nghUj;Jf. 
A. fop  1. Mw;iw ghrdj;jpw;fhf gad;gLj;j 
B. fhy;tha; 2. nghpa Mw;iw flf;f 
C. Fopfhy;tha; 3. xU ePh; topia kw;wNjhL ,izf;f 
D. miz  4. FWfpa mstpw;F Md ePh; Nghf;Ftuj;J 
 A B C D 
a. 4 3 2 1 
b. 3 2 1 4  
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c. 4 2 3 1 
d. 3 4 2 1 
e. tpil njhpatpy;iy 

 
12. What is Density of Population? 

a. The number of people living in per (one) sq.km. 
b. The number of people living in 10 sq. km. 
c. The number of people living in 100 sq. km. 
d. The number of people living in 200 sq. km. 
e. Answer not known 
kf;fl;njhif nrwpT vd;why; vd;d? 
a. xU rJu fpNyh kPl;lhpy; trpf;Fk; kf;fspd; vz;zpf;if 
b. 10 rJu  fpNyh kPl;lhpy; trpf;Fk; kf;fspd; vz;zpf;if 
c. 100 rJu fpNyh kPl;lhpy; trpf;Fk; kf;fspd; vz;zpf;if 
d. 200 rJu fpNyh kPl;lhpy; trpf;Fk; kf;fspd; vz;zpf;if 
e. tpil njhpatpy;iy 

 
13. Why India has not become self-reliant in edible oil productions? 

I High cultivation cost 
II Low productivity 
III Lack of Government support 
IV Deficient domestic demand 
 
a. II only   b. I and III   c. I, II and III   
d. I only   e. Answer not known 
rikay; vz;nza; cw;gj;japy; Vd; ,e;jpah jw;rhh;G milatpy;iy? 
I $Ljyhd rhFgb nryT 
II Fiwe;j cw;gj;jp jpwd; 
III muR MjuT ,y;iy 
IV Nghjpa cs;ehl;L Njit ,d;ik 
a. II kl;Lk;   b. I kw;Wk; III  c. I, II kw;Wk; III 
d. I kl;Lk;   e. tpil njhpatpy;iy 

 
14. Which one of the following agricultural practices is ecofriendly? 

a. Organic farming     
b. Shifting cultivation 
c. Cultivation of high yielding varieties  
d. Growing plants in glass houses 
e. Answer not known 
gpd;tUk; tptrha Kiwfspy; vJ #oy; el;G? 
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a. fhpk Ntshz;ik      
b. rhFgb khw;wk; 
c. mjpf kf#y; jUk; tiffspd; rhFgb 
d. fz;zhb tPLfspy; tsUk; jhtuq;fs;  
e. tpil njhpatpy;iy 

 
15. Consider the following statement. 

1. Bihar, Madhya Pradesh, Rajasthan and Uttar Pradesh have very high 
population. 

2. In India, Kerala has the lowest birth rate 
3. West Bengal has the lowed death rate 

4. The density of the population is 
Total Population

Land areaof theregion
 

Among these, which are the correct one(s)? 
a. 1 and 3   b. 2 and 3   c. 1, 2 and 4 
d. 3 and 4   e. Answer not known 
gpd;tUk; $w;iw ftdpf;f. 
1. gPfhh;> kj;jpa gpuNjrk;> ,uh[];jhd; kw;Wk; cj;jpu gpuNjrk; 

Mfpait mjpf kf;fs; njhif nfhz;l khepykhFk;. 
2. Nfush kpff; Fiwe;j gpwg;G tpfpjk; nfhz;Ls;sJ. 
3. Nkw;F tq;fhsk; kpff; Fiwe;j ,wg;G tpfpjj;ij nfhz;Ls;sJ. 

4. kf;fs; njhif mlh;j;jp vd;gJ 
nkhj; jk;kf;fl;njhif

mg;gFjpapd ; epyg;gug;G
 

NkNy fz;ltw;Ws; rhpahdit vit? 
a. 1 kw;Wk; 3  b. 2 kw;Wk; 3  c. 1> 2 kw;Wk; 4 
d. 3 kw;Wk; 4  e. tpil njhpatpy;iy  

 

 
UNIT – IV: HISTORY AND CULTURE OF INDIA 

 
ANCIENT INDIA  
 

1. Which book explains the four noble truths of Buddhism? 
a. Nettiprakrana  b. Petakopades  c. Buddhadatta 
d. Ananda   e. Answer not known 
ve;j Gj;jfk; Gj;j kjj;jpd; ehd;F Gdpj cz;ikfis tpsf;FfpwJ? 
a. nel;bgpufhudh  b. gplNfhgNjrh  c. Gj;jjj;jh 
d. Mde;jh   e. tpil njhpatpy;iy 
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2. This Philosophy was purportedly founded in the 5th century BC by 

Makkhali Gosala. It was a major rival of vedic religion. It reached the 
height of its popularity during the rule of the Mauryan Emperor 
Bindusara around 4th century BC. This School of thought was followed 
for nearly 2000 years through the 14th century CE in the southern states 
of Karnataka and Tamilnadu 
Which school of thought is described above? 
a. Carvaka  b. Ajivika    c. Lokayata 
d. Mimamsa e. Answer not known 
,j;jj;Jtk; fp.K.5Mk; E}w;whz;by; kf;fhyp Nfhrhyuhy; 
epWtg;gl;bUf;fyhk; vd;W mwpag;gLfpwJ. ,J Ntj kjj;jpw;F ngUk; 
rthyhf ,Ue;jJ. ,J Rkhh; fp.K.4Mk; E}w;whz;by; nkshpag; Nguurh; 
gpe;Jrhuhtpd; Ml;rpf;fhyj;jpy; Gfopd; cr;rj;ij mile;jJ. ,j;jj;Jtk; 
fp.gp.14Mk; E}w;whz;L tiu fpl;lj;jl;l 2000 Mz;L fhyq;fs; 
njd;khepyq;fshd fh;ehlfh kw;Wk; jkpofj;jpy; njhlh;e;J 
gpd;gw;wg;gl;lJ. 
Nky;fhZk; tpthpg;G ve;j jj;Jtj;ij Fwpf;fpwJ? 
a. rh;thfh  b. Mrptfk;    c. Nyhfhajk; 
d. kpkhk;rh  e. tpil njhpatpy;iy 

 
3. Match the following 

A. Mahabaladhi Krita  1. Commander of the Cavalry 
B. Mahashvapati   2. Commander in Chief 
C. Mahapilupati   3. Chief Justice 
D. Mahadanda Nayak  4. Commander of the elephant force 

 A B C D 
a. 4 3 2 1 
b. 2 1 4 3 
c. 1 2 3 4 
d. 3 2 4 1 
e. Answer not known 
nghUj;Jf 
A. kfhghyjp fpUj;j  1. Fjpiu gil jsgjp 
B. kfh];tgjp   2. gilj;jsgjp 
C. kfhgpYgjp   3. jiyik ePjpgjp 
D. kfhjz;l ehaf;  4. ahidg;gilj;jsgjp 
 A B C D 
a. 4 3 2 1 
b. 2 1 4 3 
c. 1 2 3 4 
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d. 3 2 4 1 
e.  tpil njhpatpy;iy 

 
4. Who was the Director General of Archaeological survey of India at the 

time of Indus Valley excavation? 
a. Dr. R.D. Banerjee  b. Sir John Marshall  c. D.R. Sahani 
d. Max Muller   e. Answer not known 
rpe;J rkntsp mfo;thuha;r;rpapd; NghJ ,e;jpa njhy;nghUs; Ma;tpd; 
,af;Feh; n[duy; ahh;? 
a. Kidth; R.D. ghdh;[p b. rh; [hd; khh;~y;  c. D.R. r`hdp 
d. khf;]; Ky;yh;   e. tpil njhpatpy;iy 
 

5. More than 500 seals have been discovered in Indus Valley Civilization 
which are all 

a. Gold   b. Silver    c. Terracottas 

d. Copper  e. Answer not known 
rpe;J rkntsp ehfhPfj;jpy; 500-f;Fk; Nkw;gl;l Kj;jpiufs; 
fz;nlLf;fg;gl;lJ. mitfs; _______ My; jahhpf;fg;gl;lJ 
a. jq;fk;  b. nts;sp    c. kz;zhy; nra;ag;gl;lJ 
d. nrk;G   e. tpil njhpatpy;iy 

 
SOUTH INDIAN HISTORY   
 

1. How the coronation of crown prince was described under the 
Vijayanagar rule? 
a. Aswamedayagam  b. Pattabhisegam  c. Satabhisegam 
d. Yuvaraja Pattabhisegam e. Answer not known 
tp[aefh; Ml;rpapd; fPo; ,sturhpd; Kb#l;ly; vt;thW miof;fg;gl;lJ? 
a. m];tNkjahfk;   b. gl;lhgpN~fk;  c. rjhgpN~fk; 
d. Atuh[ gl;lhgpN~fk; e. tpil njhpatpy;iy 

 
MEDIEVAL INDIA  
 

1. Alamgir nama was written by whom? 
a. Jafar Khan   b. Muhammad Qazim  c. Aurangazeb 
d. Mukhtiar khan  e. Answer not known 
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Myk;fPh; ehkhit ,aw;wpaJ ahh;? 
a. [h/gh; fhd;  b. Kfk;kJ fh~pk;   c. mTuq;frPg; 
d. Kf;jahh; fhd;  e. tpil njhpatpy;iy 

 
2. Arrange the chronological order 

1. Death of Humayun    2. Second Battle of Panipat 
3. Building at Fathpur Sikiri   4. Proclamation of Din-illahi 
a. 2-1-4-3  b. 1-2-3-4   c. 3-4-2-1   
d. 4-3-2-1  e. Answer not known 
fPo;fz;ltw;iw fhy thpirg;gLj;Jf 
1. `{kha+dpd; ,wg;G   2. ,uz;lhk; ghdpg;gl;L Nghh; 
3. gNjg;g+h; rpf;hp fl;lg;gLjy;  4. jPd; ,yh`p kjk; mwptpg;G 
a. 2-1-4-3  b. 1-2-3-4   c. 3-4-2-1   
d. 4-3-2-1  e. tpil njhpatpy;iy 

 
3. Which land distribution system adopted by Sultans of Delhi? 

a. Iqtadari  b. Mansapdhari   c. Subhadhari 
d. Zamindhari e. Answer not known 
nly;yp Ry;jhd;fshy; Vw;Wf;nfhs;sg;gl;l epy tpepNahf Kiw vJ? 
a. ,f;jjhhp  b. kd;rg;jhhp  c. Rgjhhp 
d. [kPd;jhhp  e. tpil njhpatpy;iy 

 
4. Which of the following is/are not situated in Rajasthan? 

a. Dilwara Temples  b. Mehrangarh fort 
c. Bara Imambara  d. Purana Qila 
a. (a) and (b)   b. (c) and (d)   c. (a) and (c) 
d. (b) and (d)  e. Answer not known 
fPo;fhzg;gLgitfspy; vJ/vit uh[];jhdpy; mike;jpUf;ftpy;iy? 
a. jpy;thuh Nfhtpy;fs; b. nk`;uq;fhh; Nfhl;il 
c. guh ,khk;guh  d. Guhdh fpyh 
a. (a) kw;Wk; (b)  b. (c) kw;Wk; (d)    
c. (a) kw;Wk; (c)  d. (b) kw;Wk; (d)  e. tpil njhpia  
 

  



 

24 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

 

MODERN INDIA 
 

1. Who served as British Ambassador to the Mughal Court? 
a. Bernier   b. Edward Terry   c. Thomas Roe 

d. William Hawkins e. Answer not known 
Kfyha muritapy; gphpl;b~; J}Jtuhf gzpahw;wpath; ahh;? 
a. ngh;dpah;    b. vl;th;l; njhp   c. jhk]; Nuh 
d. tpy;ypak; `hf;fpd;]; d. tpil njhpatpy;iy 

 
2. “Every registered Land holder is its proprietor”. The system is called as 

a. Ryotwari system   b. Mahalwari system 
c. Zamindary system   d. Mugalayar system 
e. Answer not known 
“gjpT nra;j epyj;ij itj;Js;s xt;nthUtUk; mjd; nrhe;jfhuh; 
Mthh;” ,e;j Kiwia ,t;thW miof;fyhk; 
a. ,uhaj;Jthhp Kiw  b. kfy;thhp Kiw 
c. [kPd;jhhp Kiw   d. Kfyhah; Kiw 
e. tpil njhpatpy;iy 

 

UNIT-V: INDIAN POLITY 
 

1. Punjabi language has close connection with 
a. Hindi and Urdu  b. Hindi and Sindhi c. Persian and Urdu 
d. Sanskrit and Hindi  e. Answer not known 
gQ;rhgp nkhop __________ cld; neUq;fpa njhlh;G cilaJ 
a. `pe;jp kw;Wk; cUj  b. `pe;jp kw;Wk; rpe;jp   
c. ghurPfk; kw;Wk; cUJ d. rk];fpUjk; kw;Wk; `pe;jp 
e. tpil njhptpy;iy 
 

2. Which article of Constitution of India mentions the abolition of 
untouchability? 
a. Article 16(4)  b. Article 17   c. Article 18 
d. Article 19   e. Answer not known 
,e;jpa murpayikg;gpd; ve;j ruj;J jPz;lhik xopg;G gw;wp 
Fwpg;gpLfpwJ? 
a. 16 (4) ruj;J  b. 17 ruj;J   c. 18 ruj;J 
d. 19 ruj;J   d. tpil njhpatpy;iy 
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3. Which ideology threatens Indian Unity? 

a. Communalism  b. Communism   c. Democracy 
d. Socialism   e. Answer not known 
ve;j fUj;jpay; ,e;jpa xw;Wikia mr;RWj;JfpwJ? 
a. tFg;Gthjk;  b. nghJTilik   c. kf;fshl;rp 
d. Nrhrpayprak;  e. tpil njhpatpy;iy 

 
4. Which of the following statements regarding political parties in India 

is/are correct? 
a. Parties in India function within the institutional framework of a 

federal structure and are bound by the country‟s electoral laws and 
rules 

b. Strong institutionalised parties vital for healthy democracies 
a. (a) only correct    b. (b) only correct 
c. Both (a) and (b) are correct  d. Neither (a) nor (b) is correct 
e. Answer not known 
murpay; fl;rpfs; Fwpj;J fPo;fhzg;gLk; thf;fpaq;fspy; vJ/vit 
rhpahdit? 

a. ,e;jpa murpay; fl;rpfs; xU $l;lhl;rp $l;likg;Gf;Fs; 
nray;gLfpd;wd NkYk; ehl;bd; Njh;jy; rl;lq;fs; kw;Wk; tpjpfSf;F 
fl;Lg;gLfpd;wd 

b. rpwg;ghd [dehaf ehLfSf;F tYthd epWtdkhf;fg;gl;l fl;rpfs; 
kpf Kf;fpakhdit 

a. (a) kl;Lk; rhp    b. (b) kl;Lk; rhp   
c. (a) kw;Wk; (b) kl;Lk; rhp  d. (a) Ak; ,y;iy (b) Ak; ,y;iy 
e. tpil njhpatpy;iy 

 
5. Regarding the word „Fraternity‟ in the preamble of Indian Constitution, 

choose the correct statement(s) 
a. It leaves no room for regionalism  
b. It leaves room for communalism 
c. It leaves no room for casteism  
a. (a) and (c)   b. (b) only   c. (a) and (b) 
d. (c) only    e. Answer not known 
,e;jpa murpayikg;gpd; Kd;Diuapy; gad;gLj;jg;gLk; „rNfhjuj;Jtk;‟ 
vd;w nrhy; njhlh;ghd fPo;fhZk; $w;Wfspy; rhpahdtw;iw Njh;T 
nra;aTk;. 
a. mJ gpuhe;jpathjj;jpw;F ,lkspf;fhJ 
b. mJ tFg;Gthjj;jpw;F ,lkspf;Fk; 



 

26 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

c. mJ rhjpathjj;jpw;F ,lkspf;fhJ.  
a. (a) kw;Wk; (c)  b. (b) kl;Lk;  c. (a) kw;Wk; (b) 
d. (c) kl;Lk;   e. tpil njhpatpy;iy 

 
6. Consider the following statements: 

1. The term of office of the Attorney General of India is not fixed by the 
constitution. 

2. The remuneration of the Attorney General of India is not fixed by the 
constitution. 

Which of the statements given above is/are correct? 
a. 1 only   b. 2 only    c. Both 1 and 2 

d. Neither 1 nor 2  e. Answer not known 
fPo;fz;l $w;iw vz;zpg; ghh;f;f 
1. ,e;jpa jiyik tof;fwpQhpd; gjtpfhyk; murpayikg;gpy; 

eph;zapf;fg;gltpy;iy 
2. ,e;jpa jiyik tof;fwpQhpd; Cjpak; murpayikg;gpy; 

eph;zapf;fg;gltpy;iy nfhLf;fg;gl;Ls;s thf;fpaq;fspy; vJ 
rhpahdJ? 

a. 1 kl;Lk;   b. 2 kl;Lk;  c. 1 kw;Wk; 2 
d. 1 kw;Wk; 2 my;y  e. tpil njhpatpy;iy  
 
 

7. Consider the following statements. 
A High court has jurisdiction to 
1.  Punish for its contempt 
2. Tender advice on a legal question referred by President of India. 
3. Tender advice on a legal question referred by Governor of the State 
4. Issue certain writs to protect fundamental rights 
Which of the above statement(s) is/are correct? 
a. 1 and 4 only  b. 1, 3 and 4 only  c. 1, 2, 3 and 4 
d. 2 and 4 only  e. Answer not known 
cah;ePjpkd;w mjpfhu njhlh;ghd fPo;fz;l $w;Wfis ftdpf;fTk;. 
1. ePjpkd;w mtkjpg;GfSf;F jz;lid toq;Fjy; 
2. ,e;jpa FbauR jiytuplkpUe;J MNyhridfs; Nfl;fg;gl;lhy; mij 

toq;fyhk;  
3. khepy MsehplkpUe;J MNyhridfs; Nfl;fg;gl;lhy; mij 

toq;fyhk; 
4. mbg;gil chpikfis ghJfhg;gjw;fhf rpy Nguhizfis 

gpwg;gpf;fyhk;. 
,tw;wpy; vJ rhpahd $w;W? 
a. (1) kw;Wk; (4) kl;Lk;   b. (1)> (3) kw;Wk; (4) kl;Lk; 
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c. (1)> (2)> (3) kw;Wk; (4)  d. (2) kw;Wk; (4) kl;Lk; 
e. tpil njhpatpy;iy  

 
8. Which of the following statements are not true? 

a. In 1969, the Government of Tamilnadu appointed a two-member 
 committee called Rajamannar Committee to examine Centre-State 
 relations. 
b. It recommended that All-India services should be abolished 
c. It recommended that Finance Commission should be made a  

   permanent body  
a. (a) is not true    b. (b) is not true 
c. (c) is not true    d. (a), (b) and (c) are not true 
e. Answer not known 
fPo;fhzg;gLk; thf;fpaq;fspy; vit/(J) jtwhdJ/(it)? 
a. kj;jpa khepy cwTfis Ma;T nra;a 1969 Mk; Mz;L jkpo;ehL 

muR uh[kd;dhh; fkpl;b vd;w ,uz;L cWg;gpdu;fisf; nfhz;l FO 
xd;iw epakpj;jJ. 

b. mJ mfpy ,e;jpa Nritfis xopf;f Ntz;Lk; vd;W ghpe;Jiuj;jJ. 
c. epjp Mizak; epWtg;gl;l xU epue;ju mikg;ghf ,Uf;f Ntz;Lk; 

vd;w ghpe;Jiuj;jJ. 
a. (a) jtwhdJ    b. (b) jtwhdJ 
c. (c) jtwhdJ    d. (a)> (b)> kw;Wk; (c) jtwhdit 
e. tpil njhpatpy;iy 
 

9. Which schedule of the Indian Constitution specifies the powers authority 
and Responsibility of Panchayat? 
a. Seventh schedule   b. Sixth schedule 
c. Tenth schedule    d. Eleventh schedule 
e. Answer not known 
,e;jpa murpayikg;gpd; ve;j ml;ltizapy; gQ;rhaj;J Kiwapd; 
Mw;wy;> mjpfhuk; kw;Wk; nghWg;Gfs; Fwpg;gplg;gl;Ls;sd? 
a. 7tJ ml;ltiz   b. 6tJ ml;ltiz 
c. 10tJ ml;ltiz   d. 11tJ ml;ltiz 
e. tpil njhpatpy;iy 
 

10. Consider the following statements: 
I Governor is appointed by the President. 
II He is the nominee of the Central Government. 
III The Draft constitution provided for the indirect election of Governor. 
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IV The Constituent assembly opted for the indirect appointment of the 
Governor  

Choose the correct answer: 
a. (I) and (II) only correct   b. (I) and (IV) only correct 
c. (I) and (II) and (IV) only correct  d. (III) only correct 
e. Answer not known 
fPo;f;fz;l $w;iw fUjTk;. 
I MSeh; FbauR jiytuhy; epakpf;fg;gLfpwhh;. 
II mth; kj;jpa murhq;fj;jhy; epakdk; nra;Ak; egh; Mthh; 
III tiuT murpayikg;Gr; rl;lk; MSeh; epakdj;jpw;F kiwKf Njh;jy; 

Kiwia toq;fpaJ. 
IV murpayikg;G eph;za rig> MSeh; Njh;jYf;F kiwKf epakd 

Kiwia vLj;Jf; nfhz;lJ. 
rhpahd tpilia njhpe;njLf;f. 
a. I kw;Wk; II kl;Lk; rhp    b. I kw;Wk; IV kl;Lk; rhp 
c. I kw;Wk; II kw;Wk; IV kl;Lk; rhp  d. III kl;Lk; rhp    
e. tpil njhpatpy;iy 

 

11. Which of the following Institutions has the final Power of deciding on 
the Composition of the Upper House of the State legislature? 
a. Parliament     b. State Legislature 
c. Lower House of the State legislature d. None of the above 
e. Answer not known 
khepy rl;lkd;w Nkyitapd; cWg;gpdh; vz;zpf;ifia eph;zapf;f $ba 
epWtdk; ahJ? 
a. ghuhSkd;wk;     b. khepy rl;lkd;wk; 
c. khepy rl;lkd;wj;jpd; fPoit  d. Nkw;$wpa vitAk; ,y;iy 
e. tpil njhpatpy;iy 

 
12. The Indian President has a veto power over 

I Ordinary bill 
II Money bill 
III Constitutional amendment bill 
IV State legislation bill 
Which statement given above are correct? 
a. (I) and (IV) only    b. (IV) and (III) only 
c. (I), (III) and (IV) only    d. (II) and (III) only 
e. Answer not known] 
,e;jpa FbauR jiytu; vjd; kPJ uj;J nra;fpd;w mjpfhuj;ij 

nfhz;bUf;fpwhh; 
I Rhjhuz kNrhjh kPJ 
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II epjp kNrhjh kPJ 
III murpayikg;Gr; rl;ljpUj;j kNrhjh kPJ 
IV khepy rl;l kNrhjh kPJ 
Nkw;$wpatw;Ws; vJ rhpahdJ? 
a. I kw;Wk; IV kl;Lk;   b. IV kw;Wk; III kl;Lk; 
c. I, II kw;Wk; IV kl;Lk;   d. II kw;Wk; III kl;Lk; 
e. tpil njhpatpy;iy 

 
13. I. Money Bills can be introduced in the parliament without president‟s   

    approval 
II. The finance commission is appointed by the president. 
Which of the above statements are correct? 
a. (I) only    b. (II) only  c. Both (I) and (II) 
d. None of the above  e. Answer not known 
I epjp kNrhjh> [dhjpgjpapd; ghpe;Jiuapd;wp ehlhSkd;wj;jpy; jhf;fy; 

nra;ag;gLk; 
II ,e;jpa epjp Mizak; [dhjpgjpahy; epakpf;fg;gLfpwJ. 

Nkw;$wpatw;wpy; vJ rhpahdJ? 
a. I kl;Lk;    b. II kl;Lk;  c. I kw;Wk; II 
d. Nkw;fz;l vitAkpy;iy e. tpil njhpatpy;iy 

 
14. The council of ministers of the Parliament hold office during the 

pleasure of  
a. Prime Minister   b. President  c. Parliament   
d. None of the above  e. Answer not known 
ehlhSkd;w mikr;ruit ePbg;gJ> ,tuJ MSikahy;  
a. gpujk ke;jphp   b. [dhjpgjp  c. ehlhSkd;wk;  
d. ,it vJTk; ,y;iy  e. tpil njhpatpy;iy 
 

15. Which of the following articles broadly Govern the relationship between 
the Prime Minister and the President? 
a. Articles 74, 75 and 78  b. Articles 51, 74 and 75 
c. Articles 85, 74 and 75  d. Articles 74, 75 and 79 
e. Answer not known 
gpd;tUk; ve;j tpjpfs; [dhjpgjp kw;Wk; gpujk ke;jphpapd; cwTfis 
tpthpf;fpd;wd?  
a. tpjpfs; 74> 75 kw;Wk; 78  b. tpjpfs; 51> 74 kw;Wk; 75 
c. tpjpfs; 85> 74 kw;Wk; 75  d. tpjpfs; 74> 75 kw;Wk; 79 
e. tpil njhpatpy;iy 
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16. Directive principles of State Policy are described as “life-giving 
provisions of the constitution” by ____ 
a. L.M. Singhvi  b. Ambedkar  c. Rajendra Prasad 
d. Radha Krishnan e. Answer not known 
muR Neub topfhl;L nfhs;iffs; vd;gJ 'murpayikg;gpw;F 
capuspf;Fk; tpjpfshFk;' vd ___________ $wpdhh;.  
a. vy;.vk;. rpq;tp    b. mk;Ngj;fh; c. ,uhN[e;jpu gpurhj;  
d. ,uhjh fpU~;zd;   e. tpil njhpatpy;iy 

 
17. Consider the following statements on Fundamental Duties: 

1. Parliament cannot enforce it by a legislation 
2. It is applicable only to Indian citizens 
3. All Fundamental duties are either moral or civil duties 
4. Paying taxes is a fundamental duty. 
Which of the above statements are true? 
a. 2, 3 and 1 are correct   b. 1, 2, 3 and 4 are correct 
c. 2 and 3 are correct   d. 1, 3 and 4 are correct 
e. Answer not known 
mbg;gilf; flikfis njhlh;ghd fPo;f;fz;l thf;fpaq;fis 
ftdpf;fTk;  

1. ehlhSkd;wk; rl;lj;jpd; %yk; ,ij mky;gLJ;j KbahJ  
2. ,J ,e;jpa Fbkf;fSf;Nf nghUe;Jk;  
3. midj;J mbg;gil flikfSNk xOf;f newpfisNah my;yJ 

Fbik flikfisNah mbg;gilahf nfhz;lit. 
4. muRf;F thpfis nrYj;JtJk; xU mbg;gil flik  
Nkw; $wg;gl;Ls;stw;Ws; vit rhpahdit?  
a. 2, 3 kw;Wk; 1 rhpahdit   b. 1, 2, 3 kw;Wk; 4 rhpahdit  
c. 2 kw;Wk; 3 rhpahdit   d. 1, 3 kw;Wk; 4 rhpahdit  
e. tpil njhpatpy;iy 
 

18. Which of the following fundamental rights was converted as legal right? 
a. Right to Equality   b. Right to Freedom 
c. Right to Religion   d. Right to Property 
e. Answer not known 
gpd;tUtdtw;Ws; ve;j mbg;gil chpik rl;l chpikahf khw;wg;gl;lJ?  
a. rkj;Jt chpik    b. Rje;jpu chpik  
c. kj chpik     d. nrhj;Jhpik  
e. tpil njhpatpy;iy 
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19. Identify the fundamental duty that was added in 2002 by the 86th 
Amendment Act. 
a. Respect National Flag 
b. Defend our country 
c. Develop Scientific Temper 
d. To provide opportunities for education to children between the age 
of 6-14 years. 
e. Answer not known 
2002 y; 86 k; murpay; rhrd jpUj;jy; rl;lk; %ykhf Nrh;f;fg;gl;l 
mbg;gil flikia fz;lwpf.  
a. Njrpa nfhbia kjpj;jy;    
b. ekJ ehl;il ghJfhj;jy;  
c. mwptpay; czh;it Nkk;gLj;Jjy;   
d. 6 Kjy; 14 taJ Foe;ijfSf;fhd fy;tp fw;Fk; tha;g;G toq;Fjy;  
e. tpil njhpatpy;iy 

 
20. Consider the following statements: 

I The Constitution of India establishes a Parliamentary form of 
Government. 

II Prime Minister is the Head of the Governmen 
III President is the Head of the Government 
IV Real executive power rests with the President of India 
Choose the correct answer from the following: 
a. I and II only true   b. III only correct 
c. II and IV only correct  d. IV only correct 
e. Answer not known 
fPo;fz;l $w;iw fUjTk;  
I. ,e;jpa murpayikg;Gr; rl;lk; ghuhSkd;w murhq;f Kiwia 

epWtpAs;sJ  
II. gpujkh; murhq;fj;jpd; jiyth; Mthh;  
III. FbauR jiyth; murhq;fj;jpd; jiyth; Mthh;  
IV. FbauR jiyth; cz;ikahd nrayhl;rp mjpfhuk; nfhz;lth;  
rhpahd tpilia fz;lwpf.  
a. I kw;Wk; II kl;Lk; rhp  b. III kl;Lk; rhp  
c. II kw;Wk; IV kl;Lk; rhp  d. IV kl;Lk; rhp  
e. tpil njhpatpy;iy 
 

21. By What name or names is our country mentioned in the Indian 
Constitution? 
a. Indian and Hindustan  b. India and Bharat 
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c. Bharat     d. India, Bharat, Hindustan 
e. Answer not known 
,e;jpa murpayikg;gpy; Fwpg;gplg;gl;Ls;s ,e;jpahtpd; ngah; ahJ?  
a. ,e;jpad; kw;Wk; ,e;J];jhd;   b. ,e;jpah kw;Wk; ghujk;  
c. ghujk;       d. ,e;jpah> ghujk;> ,e;J];jhd;  
e. tpil njhpatpy;iy 

 
22. Match the following 

A. Article 39(b) 1. Protection of Ecology, Environment from Pollution 
B. Article 48(A) 2. Equal pay for Equal work 
C. Article 39(d) 3. Free legal aid to the poor 
D. Article 39(A) 4. Abolished hereditary property 

 A B C D 
a. 1 2 3 4 
b. 4 1 2 3 
c. 4 3 2 1 
d. 4 1 3 2 
e. Answer not known 

fPo;fz;ltw;iw nghUj;Jf:  
A. rl;l cWg;G (39 (b)  1. #oypay; kw;Wk; Rw;Wr; #oy;  
         khRghl;bypUe;J ghJfhg;G  
B. rl;l cWg;G 48(A)   2. rk Ntiyf;F rk Cjpak;  
C. rl;l cWg;G 39(d)   3. Vio vspa kf;fSf;F ,ytr rl;l  
        cjtp  
D. rl;l cWg;G 39(A)  4. guk;giu nrhj;Jlik mopj;jy;  

 A B C D 
a. 1 2 3 4 
b. 4 1 2 3 
c. 4 3 2 1 
d. 4 1 3 2 
e. tpil njhpatpy;iy 
 

23. Match the following  
Preamble as      Said by 
A. Political Horoscope   1. Sir Ivor Jennings 
B. Keynote to the Constitution 2. Thakurdas Bhargav 
C. Soul of the Constitution  3. B.R. Ambedkar 
D. Paradise of Lawyers   4. K.M. Munish 

      5. Earnest Barker 
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 A B C D 
a. 1 2 3 4 
b. 2 1 4 5 
c. 4 5 2 1 
d. 1 4 3 2 
e. Answer not known 

nghUj;Jf:  
 Kfg;Giuapd; gjk;      $wpath;  
A. murpay; [hjfk;     1. rh; Ith; n[d;dpq;  
B. murpayikg;gpd; rhtp    2. jhFh;jh]; gh;ft;  
C. murpayikg;gpd; Md;kh   3. gp.Mh;. mk;Ngj;fh;  
D. tof;fwpQh;fspd; nrhh;f;fk;   4. Nf.vk;. Kd;rp  
       5. vh;d];l; ghh;f;fh;  

A B C D 
a. 1 2 3 4 
b. 2 1 4 5 
c. 4 5 2 1 
d. 1 4 3 2 
e. tpil njhpatpy;iy 
 

24. Consider the following Assertion and Reason  
Assertion (A)  : Bringing down the influence of the rich and powerful  
         people in making Governmental decision making is  
        the challenge in the concept of expansion of democracy. 

Reason (R)   : People's participation and their control in meaningful,  
        only when influence of the rich is brought down. It  
        results in "Deepening of Democracy". 
a. (A) is wrong buy (R) is correct  
b. Both (A) and (R) are correct  
c. (R) is wrong but (A) is correct  
d. Both (A) and (R) are incorrect  
e. Answer not known 
fPo;tUk; fUj;J kw;Wk; fhuzk; Mfpatw;iw ftdpf;fTk;.  
fUj;J (A) :murhq;f KbntLj;jypy;> gzf;fhuh;fs; kw;Wk;  
    mjpfhuk; gilj;j kf;fspd; nry;thf;if Fiwg;gJ  
    vd;gJ "[dehaf tphpthf;fk;" vDk; fUj;jpd;  
    rthy; MFk;.  
fhuzk; (R) : kf;fs; gq;nfLg;G kw;Wk; mth;fspd; fl;Lg;ghL  
   vd;gJ gzf;fhuh;fspd; nry;thf;F Fiwf;fg;gLk;NghJ  
   kl;LNk nghUSilajhf khWk;. ,JNt  
   [dehafj;ij Mog;gLj;Jk; eltbf;ifAkhFk;.  
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a. (A) jtW Mdhy; (R) kl;Lk; rhp  
b. (A) kl;Lk; (R) ,uz;Lk; rhp  
c. (A) jtW Mdhy; (R) rhp  
d. (A) kw;Wk; (R) ,uz;Lk; rhp my;y  
e. tpil njhpatpy;iy  

 

UNIT-VI: INDIAN ECONOMY 
 

1. Choose the correct statements related to “Black money” 
a. These are assets not reported to the Government at the time of 

generation 
b. Estimate of black money in India for the year 1983-84 is 95% of GDP 
c. “Tax havens” are typically big countries which impose high tax on 

foreigners who decide to settle down 
a. (a) only   b. (b) only   c. (a) and (b) only 
d. (b) and (c) only e. Answer not known 
fUg;G gzk; njhlh;ghd fPo;f;fhZk; $w;wpy; / $w;Wfspy; rhpahdtw;iw 
Njh;T nra;aTk;?  

a. ,e;j tifahd ,Ug;G clikfspd; cw;gj;jp gw;wp muRf;F jfty; 
nfhLf;fg;gLtjpy;iy  

b. 1983 – 84 Mk; Mz;by;> fUg;G gzj;jpd; kjpg;gPlhdJ> nkhj;j 
cs;ehl;L cw;gj;jpapy; (GDP) 95% MFk;.  

c. "thpVkhw;W Gfyplk;" vd;git nghJthf nghpa ehLfshf ,Uf;Fk;. 
NkYk; muG ehLfs;> FbNaw vz;Zk; ntspehl;lth;fs; kPJ mjpf 
thpr;Rikia jpzpf;Fk;.  

a. (a) kl;Lk;     b. (b) kl;Lk; c. (a) kw;Wk; (b) kl;Lk;  
d. (b) kw;Wk; (c) kl;Lk;  e. tpil njhpatpy;iy  

 
2. Statement 1: A major issue highlighted by census 2011 is that there are  

   around 50 lakh less children in age group 0-6 years in  
   census 2011 than census 2001 
Statement 2: Population growth rate between 2001 and 2011 is lower  
   than the Population growth rate between 1991 and 2001 
a. S1 and S2 are correct but S2 does not explain S1 
b. S1 is wrong; S2 is correct 
c. Both S1 and S2 are wrong 
d. Both S1 and S2 are correct and S2 explains the S1 
e. Answer not known 
$w;W 1  : 0-6 taJ Foe;ijfspd; vz;zpf;if 2001 kf;fs;njhif  

    fzf;nfLg;ig xg;gpLk;NghJ 2011 kf;fs; njhif  
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    fzf;nfLg;gpy; Rkhh; 50 yl;rk; tiu Fiwe;Js;sJ. ,e;j  
    cz;ik Kf;fpa gpur;ridahf 2011 kf;fs; njhif  
    fzf;nfLg;gpy; Rl;bf;fhl;lg;gl;Ls;sJ 

$w;W 2: 2001 kw;Wk; 2011k; Mz;LfSf;F ,ilapyhd kf;fs;njhif  
      tsh;r;rp tPjk; 1991 kw;Wk; 2001k; Mz;LfSf;F ,ilapyhd  
      kf;fs;njhif tsh;r;rp tPjj;Jld; xg;gpLifapy; FiwthdJ  
    MFk;. 

a. $w;W 1 kw;Wk; 2 rhp> Mdhy; $w;W 2> $w;W 1-f;fhd tpsf;fk; my;y 
b. $w;W 1 jtW> $w;W 2 rhp 
c. $w;W 1 kw;Wk; $w;W 2 ,uz;Lk; jtW 
d. $w;W 1 kw;Wk; $w;W 2 ,uz;Lk; rhp> $w;W 2> $w;W 1-f;fhd rhpahd 

tpsf;fk; 
e. tpil njhpatpy;iy 

 
3. What are the facts related to defining GDP? 

a. It is not for a specific period of time 
b. It measures only goods and not services 
c. It is a non monetary measure 
a. (a) is correct (b) and (c) are wrong 
b. (b) and (c) are correct (a) is wrong 
c. (a), (b), (c) are wrong 
d. (b) is correct (a) and (c) are wrong 
e. Answer not known 
nkhj;j cs;ehl;L cw;gj;jp (GDP) njhlh;ghd rhpahd $w;iw / 

$w;Wfis Njh;T nra;aTk; 
a. mJ Xh; Fwpg;gpl;l fhy tiuaiwf;F chpj;jhdJ my;y 
b. mJ “nghUl;fs;” njhlh;ghd Xh; mstPNlahFk;. “Nrit” njhlh;ghdJ 

my;y 
c. mJ gzk; rhuhj mstPLhFk; 
b. (a) rhp (b) kw;Wk; (c) jtW 
c. (b) kw;Wk; (c) rhp (a) jtW 
d. (a), (b), (c) jtW 
e. (b) rhp (a) kw;Wk; (c) jtW 
d. tpil njhpatpy;iy 

 
4. Consider the following statement 

1. India introduced the family planning programme in 1950s 
2. The family planning programme adopted Neo-Marxian approach 

to birth control 
3. End of National Emergency Ruled out compulsion in family 

planning 
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4. Planning and implementation was carried by central Government 
Choose the correct answer 
a. 2 and 3 only correct  b. 1 and 3 only correct   
c. 2 and 4 only correct  d. 1 and 4 only correct   
e. Answer not known 
fPo;fz;l $w;Wfis fUjTk; 
1. 1950Mk; Mz;Lfspy; ,e;jpa FLk;g fl;Lghl;L jpl;lj;ij 

mwpKfg;gLj;jpaJ 
2. FLk;g fl;Lg;ghL jpl;lkhdJ Gjpa – khh;f;rpa mZFKiwapd; 

mbg;gil nra;ag;gl;lJ 
3. Njrpa neUf;fb KbTf;F te;jTld; FLk;g fl;Lg;ghL 

fl;lhakhf;fg;gltpy;iy 
4. jpl;lkply; kw;Wk; nray;gLj;jy; kj;jpa murhy; Nkw;nfhs;sg;gl;lJ 
a. 2 kw;Wk; 3 kl;Lk; rhp  b. 1 kw;Wk; 3 kl;Lk; rhp 
c. 2 kw;Wk; 4 kl;Lk; rhp   d. 1 kw;Wk; 4 kl;Lk; rhp 
d. tpil njhpatpy;iy 

 
5. The following are the functions of Niti Aayog 

Find out which is/are wrongly listed 
I. To foster cooperative federalism 
II. To give final approval to five year plans 
III. To implement schemes for rural development 
IV. To advice the State and Central Government on levying taxes 

a. I and II  b. I, II and III  c. II and IV 

d. Only IV  e. Answer not known 
epjp MNahf;fpd; gzpfs; fPNo nfhLf;fg;gl;Ls;sd 
,jpy; vJ/vit jtwhf nfhLf;fg;gl;Ls;sJ 
I. $l;LwT $l;lhl;rpia tsh;j;jy; 
II. Ie;jhz;L jpl;lq;fSf;F ,Wjp xg;Gjy; mspj;jy; 
III. Cuf tsh;r;rpf;fhd jpl;lq;fis mky;gLj;Jjy; 
IV. kj;jpa kw;Wk; khepy muRfSf;F thp t#y; njhlh;ghf mwpTiu 

toq;Fjy; 
a. I kw;Wk; II  b. I, II kw;Wk; III   c. II kw;Wk; IV 
d. IV kl;Lk;  e. tpil njhpatpy;iy 
 

6. According to the evaluation report of Niti Ayog related to Minimum 
Support Price (MSP), which of the following statement (s) is/are correct? 
a. MSP is declared before the sowing season. 
b. The idea behind MSP is to give guaranteed prices to the farmers and 

save them from price fluctuations. 



 

37 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

c. With globalization resulting in free trade in agricultural commodities, 
it is not important to protect the farmers from the unwarranted 
fluctuations in prices. 

a. (a), (c) only  b. (a), (b) only   c. (b) only   
d. (c) only   e. Answer not known 
epjp MNahf;fpd; Fiwe;jgl;r MjuT tpiy (MSP) njhlh;ghd kjpg;gPL 
mwpf;ifapd; gb fPo;fhZk; ve;j $w;W/$w;Wfs; rhpahdJ/rhpahdit 
MFk;? 
a. “Fiwe;jgl;r MjuT tpiy” tpijg;Gf; fhyj;jpw;F Kd;Ng 

mwptpf;fg;gLk;. 
b. “Fiwe;jgl;r MjuT tpiy” apd; Nehf;fk; tptrhapfSf;F tpiy 

cj;juthjk; mspg;gJ MFk;. 
c. cyfkakhf;fypdhy; Vw;gl;Ls;s jq;F jilaw;w th;j;jfj;jpd; 

tpisthf tptrha nghUs;fspd; tpiyapy; Vw;gLk; Njitaw;w Vw;w 
,wf;fq;fspy; ,Ue;J tptrhapfis fhg;gJ Kf;fpaky;y. 

a. (a)> (c) kl;Lk;  b. (a)> (b) kl;Lk;   c. (b) kl;Lk; 
d. (c) kl;Lk;   e. tpil njhpatpy;iy 

 
7. Consider the following statement. 

The objectives of fiscal policy are 
1. Capital formation 
2. Equitable distribution 
3. Unemployment 
4. Regional Balance 

From these, which are correct statement? 
a. 2, 3 and 4  b. 1, 2 and 4  c. 1, 3 and 4 
d. 1, 2 and 3  e. Answer not known 
gpd;tUk; $w;iw ftdp 
epjpf; nfhs;ifapd; Nehf;fq;fshtd. 
1. %yjd cUthf;fk; 
2. rkkhd gfph;T 
3. Ntiytha;g;gpd;ik 
4. rktl;lhu tsh;r;rp 
,tw;Ws;> vit rhpahd $w;W? 
a. 2> 3 kw;Wk; 4  b. 1> 2 kw;Wk; 4 c. 1> 3 kw;Wk; 4 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 
 

8. Consider the following statement. 
The objective factors for determinants of consumption function are. 
1. Motive of precaution 
2. Motive of liquidity 
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3. Motive of avarice 
4. Laissez-faire policy 
a. 3 and 4   b. 1, 2 and 3   c. 1, 2 and 4 

d. 1 and 4   e. Answer not known 
gpd;tUk; $w;iw ftdp. 
Efh;T rhh;ig J}z;Lfpd;w mfta Mtd fhuzpfshtd 
1. Kd;ndr;rhpf;if Nehf;fk; 
2. ePh;ik jd;ik Nehf;fk; 
3. Nguhir Nehf;fk; 
4. jiyaplhf; nfhs;if 
Nky;fhZk; $w;Wfspy; rhpahdtw;iw Njh;T nra;aTk; 
a. 3 kw;Wk; 4  b. 1> 2 kw;Wk; 3   c. 1> 2 kw;Wk; 4  
d. 1 kw;Wk; 4  e. tpil njhpatpy;iy 
 

9. Which is not related to direct tax Revenues of the central government? 
a. Taxes on Income 
b. Taxes on property and capital transaction 
c. Taxes on commodities and services 
d. Taxes on dividends and profits 
e. Answer not known 
kj;jpa murpd; Neub tUthapdj;jpy; njhlh;G ,y;yhjJ vJ? 
a. tUkhd thp 
b. nrhj;J kw;Wk; %yjd thp 
c. gz;lf kw;Wk; gzp thp 
d. gq;fhjha kw;Wk; ,yhg thp 
e. tpil njhpatpy;iy 

 
10. The first blue print for Indian planning came from an engineer 

administrator 
a. M. Visvesvaraya  b. Nehru   c. S.N. Agarwal 
d. M.N. Roy   e. Answer not known 
,e;jpahtpd; jpl;lkplYf;fhd tiuglq;fs; Kjypy; ve;j nghwpahsh; 
eph;thfpaplkpUe;J te;jd 
a. M. tp];Nt];tuah  b. NeU   c. S.N. mfh;thy; 
d. M.N uha;    e. tpil njhpatpy;iy 

 
11. Which are the correct statement(s) related to “T-Billl” Treasury bill? 

a. They are issued by RBI. 
b. They are issued by Government of India. 
c. Treasury bills pay no interest. 
d. These are long term debt instruments. 
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a. (a) and (d) only b. (b) and (c) only  c. (b), (c) and (d) 
d. (b) and (d) only e. Answer not known 

 fPo;fhZk; $w;Wfspy; „T-Bill‟ (Treasury bill) njhlh;ghd rhpahdtw;iw 
Njh;T nra;aTk; 
a. mit ,e;jpa hprh;t; tq;fpahy; ntspaplg;gLfpd;wd. 
b. mit kj;jpa murhy; ntspaplg;gLfpd;wd. 
c. mtw;wpd; kPJ tl;b <l;l ,ayhJ 
d. mit neLq;fhy fld; gj;jpuq;fs; MFk; 
a. (a) kw;Wk; (d) kl;Lk;   b. (b) kw;Wk; (c) kl;Lk; 
c. (b)> (c) kw;Wk; (d)   d. (b) kw;Wk; (d) kl;Lk; 
e. tpil njhpatpy;iy  

 
12. To reduce the investment and the Incremental capital output ratio the 

following approaches are to be accomplished.  
I. Static efficiency 
II. Allocative efficiency  
III. Technical efficiency  
a. I, III, IV only  b. I, II, III only   c. I, II, IV only    
d. II, III, IV only   e. Answer not known 
xU KjyPL kw;Wk; mjpfhpf;Fk; %yjd ntspaPl;L tpfpjj;ijf; Fiwf;f> 
gpd;tUk; mZFKiwfs; epiwNtww;wg;gl Ntz;Lk;  
I. epiyahd nray;jpwd;  
II. khWk; nray;jpwd;  
III. xJf;fPL nray;jpwd;  
IV. njhopy;El;g nray;jpwd;  
a. I, III, IV kl;Lk;   b. I, II, III kl;Lk;  
c. I, II, IV kl;Lk;    d. II, III, IV kl;Lk;  
e. tpil njhpatpy;iy  

 
13. Assertion (A) : Access to Primary Health centres helps identification,  

       care and Prevention of communicable disease in rural  
       communities.  
Reason (R) : More optimum utilization of rural health infrastructure is  
    expected to yield expected results.  

a. Both (A) and (R) are true and (R) is the correct explanation of (A)  
b. Both (A) and (R) are true but (R) is not the correct explanation of (A)  
c. (A) is true but (R) is false 
d. (A) is false but (R) is true  
e. Answer not known 
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cWjpglf; $wy; (c): fpuhk kf;fs; Rfhjhu ikaq;fis vspjhf  
       mZFk; NghJ mk;kf;fspilNa njhw;W  
       Neha;fis milahsk; fhzTk;> ftdpf;fTk;> 
       jLf;fTk; cjTfpwJ.  

fhuzk; (fh) : fpuhkg;Gw Rfhjhu cs;fl;likg;gpd; cfe;j gad;ghL  
     vjph;Nehf;Fk; gyidj;jUk;.  
a. (c)> (fh) ,uz;Lk; rhp> ,j;Jld; (fh) vd;gJ (c)-tpd; rhpahd  
   tpsf;fk;  
b. (c)> (fh) ,uz;Lk; rhp> ,j;Jld; (fh) vd;gJ (c) tpd; rhpahd  
   tpsf;fk; my;y 
c. (c) rhp Mdhy; (fh) jtW  
d. (c) jtW Mdhy; (fh) rhp  
e. tpil njhpatpy;iy  

 
CURRENT AFFAIRS  
 

14. What are the recent trends in the global economy which has led to RBI 
„sell buy‟ swap of USD/INR? 
a. Financial markets worldwide facing intense selling pressures due to 

the spread of COVID-19 infections 
b. Slump in International crude prices 
c. Emerging market currencies experiencing upward pressure 

a. (a) only  b. (b) and (c) only  c. (a) and (b) only 

d. (c) only  e. Answer not known 
cyf nghUshjhuj;jpd; rkPg Nghf;Ffspy; vit ,e;jpa hprh;t; 
tq;fpapd; (RBI) mnkhpf;f lhyh; - ,e;jpa &gha; „tpw;Fk;-thq;Fk;‟ 
ghpkhw;wj;ij nray;gLj;j fhuzkhf mike;Js;sJ? 

a. Nfhtpl;-19 ngUe;njhw;why; cyfstpy; epjp re;ijfs; re;jpj;J tUk; 
tpw;gid njhlh;ghd jPtpu mOj;jk; 

b. cyf re;ijapy; fr;rh vz;nza; tpiy rhpT 
c. tsh;e;J tUk; re;ijfspd; ehza kjpg;G Nky;Nehf;fpa mOj;jj;ij 

re;jpg;gJ 
a. (a) kl;Lk; b. (b) kw;Wk; (c) kl;Lk; c. (a) kw;Wk; (b) kl;Lk; 
d. (c) kl;Lk; e. tpil njhpatpy;iy 
 

15. Identify the sector(s) of Indian Economy which are the most affected by 
Covid Pandemic – 
(a) MSME sector 
(b) Aviation sector 
(c) Tourism and Hospitality sector 
(d) Telecommunication sector 
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a. (a) and (d) only  b. (a), (b) and (c)  c. (d) only 
d. (a), (c) only   e. Answer not known 
,e;jpa nghUshjhuj;jpy;> Nfhtpl; ngUe;njhw;why; kpfTk; NkhrkhfTk; 
ghjpf;fg;gl;l Jiw(fs;) – 
(a) rpW kw;Wk; eLj;ju njhopy;fs; (MSME) 
(b) tpkhd Nghf;Ftuj;J 
(c) Rw;Wyh kw;Wk; tpUe;Njhk;gy; njhlh;ghd njhopfs; 
(d) njhiy njhlh;GF Jiw 
a. (a) kw;Wk; (a) kl;Lk;  b. (a)> (b) kw;Wk; (c)  c. (d) kl;Lk; 
d. (a)> (c) kl;Lk;   e. tpil njhpatpy;iy 

 
   

16. Which of the following states has shown the declining trend in the (GST) 
Goods and Service Tax for the year 2019-2020? 
a. Uttar Pradesh, Rajasthan and Assam 
b. Haryana, Rajasthan and Mehalaya 
c. Andhra Pradesh, Mathya Pradesh and Manipur 
d. Maharastra, West Bengal and Tamil Nadu 
e. Answer not known 
2019-2020k; Mz;bd; Nrit kw;Wk; ruf;F thp t#ypy; Fiwe;J tUk; 
Nghf;F fhzg;gLk; khepyq;fs; ahit? 
a. cj;jpu gpuNjrk;> uh[];jhd; kw;Wk; mrhk; 
b. `hpahdh> uh[];jhd; kw;Wk; Nkfhyhah 
c. Me;jpu gpuNjrk;> kj;jpag; gpuNjrk; kw;Wk; kzpg;G+h; 
d. k`huh~;l;uh> Nkw;F tq;fk; kw;Wk; jkpo;ehL 
e. tpil njhpatpy;iy 

 
17. According to Nobel Laureate Abhijit Banerjee (Economist), what is the 

only solution to overcome the economic pain in the short run in the 
wake of Covid-induced economic crisis? 

a. Putting more money in the hands of big corporates 
b. Giving more tax cuts for big corporates  
c. Putting more money in the hands of poor 
d. Giving more tax cuts to the poor 
e. Answer not known 
Nehgy; ghpR ngw;w nghUshjhu mwpQh; mgp[pj; Ngdh;[papd; $w;Wg;gb> 
Nfhtpl; ngUe;njhw;why; nghUshjhu neUf;fb Vw;gl;Ls;sJ. ,e;j 
neUf;fbahy; Vw;gl;Ls;s nghUshjhu typia FWfpa fhy mbg;gilapy; 
flg;gjw;fhd jPh;thf mth; $WtJ ahJ? 
a. ngU epWtdq;fspd; iffspy; mjpf gzk; nfhz;L Nrh;;g;gJ 
b. ngU epWtdq;fSf;F  thp Fiwg;G nra;tJ 
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c. Vio vspa kf;fspd; iffspy; mjpf gzk; nfhz;L Nrh;g;gJ 
d. Vio vspa kf;fSf;F thpFiwg;G nra;tJ 
e. tpil njhpatpy;iy 

 
18. Regarding the Indian economy, which of the following reflect, 

unprecedented suspension of economic activity in the first quarter of this 
fiscal (April-June) due to the COVID pandemic? 
(a) Contraction of around 50.3% in the construction sector 
(b) Contraction of around 39.3% in the manufacturing sector 
(c) Contraction of around 10% in the agri, forestry and fishing sector 
(d) Contraction of around 5% in the Trade, hotels, transport sector 
a. (a) and (b) only   b. (a) and (c) only 
c. (b) and (c) only    d. (b) and (d) only 
e. Answer not known 
,e;jpa nghUshjhuj;ij nghWj;j tiu> Nfhtpl; ngUe;njhw;why; ,e;j 
epjpahz;bd; Kjy; fhy; gFjpapy; (Vg;uy; - [_d;) nghUshjhu 
eltbf;iffspy; Kd;G vg;NghJk; ,y;yhj ngUk; Klf;fk; Vw;gl;lJ. 
fPo;fhZk; $w;Wfspy; vit ,e;j cz;ikia gpujpgypf;fpd;wd? 
(a) fl;Lkhdg; gzpfspy; Rkhh; 50.3% RUf;fk; 
(b) cw;gj;jp Jiwapy; Rkhh; 39.3% RUf;fk; 
(c) Ntshz;ik> tdtpay; kw;Wk; kPd;ts cw;gj;jpapy; Rkhh; 10% RUf;fk; 
(d) th;j;jfk;> jq;Fk; tpLjp/cztfk; kw;Wk; Nghf;Ftuj;J Jiwfspy; 

Rkhh; 5% RUf;fk;. 
a. (a) kw;Wk; (b) kl;Lk;   b. (a) kw;Wk; (c) kl;Lk; 
c. (b) kw;Wk; (c) kl;Lk;   d. (b) kw;Wk; (d) kl;Lk; 
e. tpil njhpatpy;iy 

 
19. Choose the correct statement related to recent Bank mergers in India. 

(a) Large Banks will be able to borrow more from the market and 
thereby help the economy revive. 

(b) Bank merger will lead to increased operational efficiency of the 
banking sector 

a. (a) only  b. (b) only  c. (a) and (b)  d. neither (a) nor (b) 
e. Answer not known 
,e;jpahtpy; rkPg fhyq;fspy; eilngWk; tq;fp ,izg;G njhlh;ghd 
$w;Wfspy; rhpahdij Njh;T nra;aTk;. 
(a) nghpa tq;fpfs; re;ijapypUe;J mjpfkhf fld; thq;Fk; jpwd;  

nfhz;litahf ,Uf;Fk; vd;gjhy; nghUshjhuk; kPl;nlLf;fg;gLk;. 
(b) tq;fp ,izg;G> tq;fpj; Jiwapd; nray;jpwid cau;j;Jk;. 
a. (a) kl;Lk;   b. (b) kl;Lk;   c. (a) kw;Wk; (b) 
c. (a) ,y;iy (b) ,y;iy e. tpil njhpatpy;iy 
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UNIT-VII: INDIAN NATIONAL MOVEMENT 
 

1. With whom can we associated the following quotes? 
- “Be Educated, Be organised and Be Agitated” 
- “I like the religion that teaches liberty, equality and fraternity” 
- “Life should be greater rather than long” 
a. Dr. Babasaheb Ambedkar  b. Thanthai Periyar 
c. Karl Marx     d. Mahatma Gandhi 
e. Answer not known 
fPo;f;fhZk; vtUld; - ,e;j Nkw;Nfhs;fis njhlh;GgLj;jyhk;? 
- “fy;tpawpT ngW> mikg;ghf xd;W jpus;> fpsh;e;njL” 
- “ehd; tpUk;Gk; kjkhdJ Rje;jpuk;> rkj;Jtk;> rNfhjuj;Jtk; 

Mfpatw;iw Nghjpf;Fk;” 
- “tho;f;if vd;gJ cahpajhf ,Uf;f Ntz;LNk jtpu ePskhdjhf 

my;y” 
a. lhf;lh;. ghghrhfpg; mk;Ngj;fh; b. je;ij nghpahh; 
c. fhh;y; khh;f;];    d. kfhj;kh fhe;jp 
e. tpil njhpatpy;iy  
 

2. Arrange the chronological order. 
1. Champaran Satya Graha 
2. Kheda Satya Graha 
3. Ahmadabad Struggle 
4. Baisaki day 
a. 1 – 2 – 3 – 4   b. 2 – 1 – 3 – 4  c. 4 – 3 – 2 – 1 
d. 3 – 2 – 1 – 4   e. Answer not known 
(Based on School Book Source) 
fPo;fz;ltw;iw fhythpirg;gLj;Jf. 
1. rhk;guhd; rj;jpah fpufk; 
2. Nflh rj;jpah fpufk; 
3. mfkjhghj; Nghuhl;lk; 
4. igrhfp ehs; 
a. 1 – 2 – 3 – 4  b. 2 – 1 – 3 – 4  c. 4 – 3 – 2 – 1 
d. 3 – 2 – 1 – 4  e. tpil njhpatpy;iy 

 
3. Name the biographical work of Abdul Kalam Azad which was written 

during his internment in 1916. 
a. Tazkira   b. Kadith   c. Hayy Ibn Yaqdhan 
c. Kitab al-Miraj  e. Answer not known 
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1916 Mk; Mz;by; rpiwthrj;jpd; NghJ vOjg;gl;l mg;Jy; fyhk; 
Mrhj;jpd; tho;f;if rhpijapd; ngah; vd;d? 
a. j~;fpuh   b. fhjpj;  c. ` ,gd; af;jhd; 
d. fpjg; my;-kpuh[; e. tpil njhpatpy;iy 
 

4. Who produced the greatest work Tarjuman-Qur‟an [a translation of 
Qur‟an from Arabic to Urdu]? 
a. Dr. Zakir Hussain   b. Fakhruddin Ali Ahmad 
c. Maulana Abul Kalam Azad d. Mohammad Ali Jinnah 
e. Answer not known 
jh;[_kd; Fh;Md; [Fh;Mdpd; mugp nkhopapypUe;J cUJ nkhopf;F 
nra;ag;gl;l nkhopngah;g;G] vd;w kpfr; rpwe;j gilg;gpid cUthf;fpath; 
ahh;? 
a. Dr. [hfPh; cird;    b. /gf;&jPd; myp m`;kj; 
c. nksyhdh mGy; fyhk; Mrhj;  d. K`k;kj; myp [pd;dh`; 
e. tpil njhpatpy;iy 
 

5. Which of the following statement is incorrect regarding Moulana Abul 
Kalam Azad? 
1. He was born in Calcutta 
2. He was the editor of the Magazine called „Lisan ul Sidiq‟ 
3. He published a journal namely „Al hilal‟ 
4. He was elected the president of the Indian national congress in 1923 

and 1940 
a. 2, 3 are correct 1, 4 are incorrect   
b. 1, 2, 3 are correct 4 only incorrect 
c. 1, 2, 3, 4 are correct 
d. 2, 3, 4 are correct 1 is incorrect 
e. Answer not known 
fPo;fz;l $w;Wfspy; nksyhdh mGy;fyhk; Mrhj; gw;wpa jtwhd $w;W 

vJ? 
1. nksyhdh mGy;fyhk; Mrhj; fy;fj;jhtpy; gpwe;jhh;. 
2. ,th; „yprhd; cy; rpj;jpf;‟ vd;w gj;jphpf;ifapd; gjpg;ghrphpah; Mthh;. 
3. ,th; my;fpyhy; vd;w ,jio ntspapl;lhu; 
4. ,th; ,e;jpa Njrpa fhq;fpu];f;F 1923 kw;Wk; 1940 Mk; Mz;Lfspy; 

jiytuhf Njh;e;njLf;g;gl;lhh;. 
a. 2> 3 $w;Wfs; rhpahdit 1> 4 jtwhdit 
b. 1> 2> 3 $w;Wfs; rhpahdit 4 tJ $w;W jtwhdJ 
c. 1> 2> 3> 4 $w;Wfs; rhpahdit 
d. 2> 3> 4 $w;Wfs; rhpahdit 1tJ $w;W jtwhdJ 
e. tpil njhpatpy;iy 
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6. Name the person who threw a bomb along with Bhagat Singh on the 

Central assembly in Delhi? 
a. Sukh Dev    b. Rajguru   c. Sohan Singh 
d. Batukeshwar Dutt  e. Answer not known 
nly;ypapy; cs;s kj;jpa rl;lkd;wj;jpd; kPJ gfj;rpq;Fld; ,ize;J 
ntbFz;L tPrpa eghpd; ngah; vd;d? 
a. Rf;Njt;    b. ,uh[;FU  c. Nrh`d; rpq; 
d. gl;LNf~;th; jj;  e. tpil njhpatpy;iy 

 
7. Rabindranath Tagore renounced his knighthood in protest against. 

a. Home Rule League   b. Khilafat Movement 
c. Jallian Wala Bagh Massacre d. August Declaration 
e. Answer not known 
utPe;jpuehj; jh$h; vjw;F vjph;g;G njhptpj;J jdJ gl;lj;ij Jwe;jhh;. 
a. N`hk; &y; yPf;    b. fpyhgj; ,af;fk; 
c. [hypad; thyhghf; gLnfhiy d. Mf];l; mwpf;if 
e. tpil njhpatpy;iy 

 
8. Which one of the statement is correct regarding the Subhas Chandra 

Bose? 
1. Bose joined the freedom struggle under the leadership of C.R. Das. 
2. 1921, he organised demonstration in Calcutta to protest against the 

visit of Prince of Wales. 
3. He boycotted the Simon Commission in 1927 
4. He sorted on the Secretary and President of Bengal Congress.  
a. 1, 2 are correct 3, 4 are incorrect  
b. 1, 2, 3, 4 are correct 
c. 1, 2, 3 are correct 4 only incorrect 
d. 1, 3 are correct 2, 4 are incorrect 
e. Answer not known 
fPo;fz;l $w;Wfspy; Rgh~; re;jpu Nghi] gw;wp rhpahd $w;W vJ? 
1. Rgh~; re;jpu Ngh];> rp.Mh;. jh]; jiyikapy; ,e;jpa tpLjiy 

Nghuhl;lj;jpy; ,ize;jhh;. 
2. 1921y; Nty;]; ,sturh; fy;fj;jhTf;F tUif Ghpe;j NghJ vjph;j;J 

Kof;fkpl;lhh; 
3. 1927y; irkd; fkp~id ,th; Gwf;fzpj;jhh; 
4. tq;fhs fhq;fpu]py; nrayhsuhfTk; jiytuhfTk; gjtp tfpj;jhh;. 
a. 1> 2 rhp 3> 4 jtwhdJ    
b. 1> 2> 3> 4 rhpahd $w;W 
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c. 1> 2> 3 rhpahd $w;W 4 jtwhd $w;W 
d. 1> 3 rhpahd $w;W 2> 4 jtwhd $w;W 
e. tpil njhpatpy;iy 

 

9. Regarding the Poona Sarvajanik Sabha consider the statements. 
1. Mahadev Govind Ranade was the brain of the organisation. 
2. The Sabha awakened the people of their political rights. 
3. It protested against the vernacular press Act of 1878. 
4. It published „Amrita Bazar Patrika‟. 
Which of the statements given above is/are correct? 
a. 1 and 2 only    b. 2 and 3 only 
c. 1, 2 and 3     d. 1 and 3 only 
e. Answer not known 
G+dh rh;th[dpf; rigg; gw;wp fUj;jpy; nfhs;f. 
1. kfhNjt; Nfhtpe;j uhzNl ,t;tpaf;fj;jpd; %isahfr; nray;gl;lhh;. 
2. ,r;rig kf;fspd; murpay; chpikfisg; gw;wpa tpopg;Gzh;it 

Vw;gLj;jpaJ. 
3. 1878k; Mz;L gj;jphpf;ifr; rl;lj;ij vjph;j;jJ. 
4. ,t;tpaf;fk; „mk;hpj g[hh; gj;hpfh‟ vd;Dk; gj;jphpf;ifia 

ntspapl;lJ. 
NkNy Fwpg;gpl;l thf;fpaj;jpy; rhpahdit vit? 
a. 1 kw;Wk; 2 kl;Lk;   b. 2 kw;Wk; 3 kl;Lk; 
c. 1> 2 kw;Wk; 3    d. 1 kw;Wk; 3 kl;Lk; 
e. tpil njhpatpy;iy 

 

10. Which one of the statement is incorrect regarding Gokhale? 
1. He started “Servants of Indian Society” in 1905 
2. He went in to South Africa and helped Gandhi in his movement 

against Colour bar. 
3. Gandhi accepted Gokhale as „Political guru‟ 
4. Gandhi described Gokhale as diamond of India, the Jewel of 

Maharastra and Prince of Workers. 
a. 1, 2, 3, 4 are correct 
b. 1, 2, 3 are correct only 4 is incorrect 
c. 1, 3, 4 are correct only 2 is incorrect 
d. 1, 2 are correct 3, 4 are incorrect 
e. Answer not known 
fPo;fz;l $w;Wfspy; NfhfNyia gw;wp jtwhd $w;W vJ? 
1. NfhfNy “,e;jpa gzpahsh; fofk;” vd;w mikg;ig 1905y; 

Vw;gLj;jpdhh; 
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2. ,th; njd; Mg;gphpf;fhtpw;F nrd;W epwntwpia vjph;j;J fhe;jpAld; 
,ize;J gzpahw;wpdhh;. 

3. fhe;jp NfhfNyia jdJ „murpay; FUthf‟ Vw;Wf; nfhz;lhh;. 
4. fhe;jp NfhfNyia ,e;jpahtpd ituk;> kfuh~;buhtpd; eif> 

njhopyhsh;fspd; ,sturd; vd;W th;zpf;fpd;whh;. 
a. 1> 2> 3> 4 $w;Wfs; rhpahdit 
b. 1> 2> 3 $w;Wfs; rhpahdit 4 tJ $w;W jtwhdJ 
c. 1> 3> 4 $w;Wfs; rhpahdit 2tJ $w;W jtwhdJ 
d. 1> 2 $w;Wfs; rhpahdit 3> 4 tJ $w;Wfs; jtwhdJ 
e. tpil njhpatpy;iy 

 
 

UNIT- VIII : History, Culture, Heritage and Socio - 
Political Movements in Tamil Nadu 

 
1. In 1944 at which district conference, „Justice Party‟ was converted into 

„Dravidar Kazhakam‟? 
a. Salem  b. Namakal  c. Dharmapuri 
d. Trichy  e. Answer not known 
1944,y; eilngw;w _________ khehl;by; ePjpfl;rp> jpuhtplh; fofkhf 
khwpaJ 
a. Nryk;  b. ehkf;fy;   c. jh;kGhp 
d. jpUr;rp  e. tpil njhpatpy;iy 

 
2. The Samarasa Suddha Sanmarga Sangam was founded by 

a. Dr. Muthulakshmi Reddy  b. T.M. Nair c. Thanthai Adigal 
d. Ramalinga Adigal   e. Answer not known 
rkur Rj;j rd;khh;f;f rq;fj;ij cUthf;fpath; 
a. Dr. Kj;Jnyl;Rkp nul;b b. b.vk;.ehah;  c. je;ij nghpahh; 
d. ,uhkypq;f mbfs;  e. tpil njhpatpy;iy 

 
3. During 1820s in Tamil Nadu the subordinate castes were generally 

prohibited from  
a. Using umbrella    b. Wearing shoes 
c. Wearing golden ornaments d. Wearing turban 
a. (a), (b) (c)  b. (b), (c), (d)   c. (c), (d), (a) 
d. (d), (a), (b) e. Answer not known 
1820fspy; jkpo;ehl;by; jho;j;jg;gl;l rhjpapdUf;F nghJthf jilr; 
nra;ag;gl;lit 
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a. Filg;gad;ghL   b. fhyzp mzptJ 
c. jq;f eif mzptJ  d. lh;gd; mzptJ 
a. (a), (b) (c)  b. (b), (c), (d)   c. (c), (d), (a) 
d. (d), (a), (b) e. tpil njhpatpy;iy 

 
4. Match the following 

Author     Book 
A. Vannadasan  1. Sancharam 
B. Ingulab   2. Sool 
C. Ramakrishnan  3. Kaandal Naatkal 
D. Cho. Dharman  4. Oru Siru Isai 

 A B C D 
a. 1 2 3 4 
b. 3 2 4 1 
c. 4 3 1 2 
d. 2 3 4 1 
e. Answer not known 

nghUj;Jf 
Mrphpah;    gilg;G / Gj;jfk; 
A. tz;zjhrd;  1. rQ;rhuk; 
B. ,d;Fyhg;   2. #y; 
C. uhkfpU~;zd;  3. fhe;js; ehl;fs; 
D. jh;kd;. Nrh  4. xU rpW ,ir 

 A B C D 
a. 1 2 3 4 
b. 3 2 4 1 
c. 4 3 1 2 
d. 2 3 4 1 
e.  tpil njhpatpy;iy 
 

5. Who first brought Christian faith into South India? 
a. Martin Luther   b. Ignatius Loyola c. St. Francis Xavier 
d. St. Thomas   e. Answer not known 
Kjd;Kjypy; fpwpj;Jt ek;gpf;ifia njd;dpe;jpahtpw;F nfhzh;e;jth; 
ahh;? 
a. khh;bd; Y}jh;    b. ,f;Ndrpa]; yNahyh  
c. Gdpj gpuhd;rp]; Nrtpah;  d. Gdpj jhk]; 
e. tpil njhpatpy;iy 
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6. “The one who gave false judgement (Ethilalan), was deeply hurt by 
himself as a woman who pulled out one of her breasts to burn the city” 
These lines which seem to indicate the story Kannagi is found in which 
of the following Sangam Literature texts? 
a. Kurunthogai  b. Nattrinai   c. Puranaanuru 
d. Akanaanuru  e. Answer not known 
„Vjpyhsd; ftiy ftw;w 
xU Kiy mWj;j jpUkh cz;zp‟ – 
fz;zfpapd; tuyhw;iwf; Fwpg;gJ Nghy fhzg;gLk; ,t;thpfs; 
,lk;ngw;w rq;f ,yf;fpak; 
a. FWe;njhif  b. ew;wpiz    c. GwehD}W 
d. mfehD}W  e. tpil njhpatpy;iy 

 
7. Among the following whom can be considered as “an intellectual who 

anticipated Dr. B.R. Ambedkar by two generations”? 
a. Iyodhee Thass Pandidhar  b. Raja Ram Mohan Roy 
c. Ishwar Chandra Vidyasagar d. Jyothi Rao Phule 
e. Answer not known 
fPo;fhz;gth;fspy; ahh; “lhf;lh; B.R.mk;Ngj;fiu ,uz;L 
jiyKiwfSf;F Kd;Ng vjph;Nehf;fpa mwpTrhh; kdpjh;” 
vdf;fUjg;gLfpwhh;? 
a. mNahj;jp jh]; gz;bjh;  b. ,uh[huhk; Nkhfd; uha; 
c. <];tu re;jpu tpj;ahrhfh;  d. N[hjpuht; GNy 
e. tpil njhpatpy;iy 

 
8. Thanthai Periyar passed resolutions for the welfare of the women in the 

Suyamariyathai conference of 
a. Madras   b. Coimbatore   c. Salem 
d. Changlepet  e. Answer not known 
je;ij nghpahh; Rakhpahij khehl;by; ngz;fspd; eyDf;fhf jpl;lq;fs; 
,aw;wg;gl;l ,lk; 
a. nkl;uh];   b. Nfhak;Gj;J}h;   c. Nryk; 
d. nrq;fy;gl;L  e. tpil njhpatpy;iy 

 
9. Thanthai Periyar referred as the philosophy of Self Respect Movement to 

a. Not having belief in next birth 
b. Not having belief in God 
c. There was nothing beyond sexual pleasures 
d. Doing a thing which one believes to be right on the basis of 

reasoning, thereafter, if any correction is to be made, correcting the 
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mistakes on the basis of reasoning and also having the mindset to 
accept the implication of such actions 

e. Answer not known 
je;ij nghpahuhy; Rakhpahij ,af;fj;jpd; jj;Jtk; vdf;$wg;gl;lJ 

ahJ? 
a. kW gpwg;gpy; ek;gpf;if ,y;yhky; ,Ug;gJ 
b. ,iwtd; kPJ ek;gpf;if ,y;yhky; ,Ug;gJ 
c. rpw;wpd;gj;jpw;F NkyhdJ xd;Wk; ,y;iy vd;w rpe;jid 
d. gFj;jwptpd; mbg;gilapy; jdf;F rhpnad;W ek;Gtij nra;tJ> 

mt;thW nra;jgpd; jtWfs; ,Ug;gpd;> gFj;jwpe;J jpUj;jpf;nfhs;tJ> 
NkYk; mt;tpisTfis Vw;Wf;nfhs;Sk; kdg;ghq;F 

e. tpil njhpatpy;iy 
 

10. Who presided over the first Madras State, Self-Respect conference? 
a. Soundara Pandiyan b. Dr. Subbarayan  c. M.R. Jeyakar 
d. E.V.K. Sambath  e. Answer not known 
KjyhtJ nrd;id khepy> Rakhpahij khehl;ilj; jiyikNaw;W 
elj;jpath; ahh;? 
a. nrse;jpu ghz;bad; b. lhf;lh;. Rg;ghuhad;  c. M.R. nraf;fh; 
d. <.tp.Nf. rk;gj;  e. tpil njhpatpy;iy 

 
11. Match the following 

A. Swarajya    1. T.M. Nair 
B. Justice    2. T. Prakasam 
C. Dravidan    3. Thiru. Vi. Ka 
D. Navasakthi   4. Bakthavachalam 

 A B C D 
a. 1 2 3 4 
b. 3 4 1 2 
c. 2 1 4 3 
d. 4 3 2 1 
e. Answer not known 
 

nghUj;Jf 
A. Rauh[;ah    1. B.vk;.ehah; 
B. I];b];    2. b. gpufhrk; 
C. jpuhtpld;    3. jpU.tp.f 
D. etrf;jp    4. gf;jtr;ryk; 

 A B C D 
a. 1 2 3 4 
b. 3 4 1 2 
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c. 2 1 4 3 
d. 4 3 2 1 
e. tpil njhpatpy;iy 
 

12. In 1916 „South Indian People‟s Association‟ was renamed as 
a. Home Rule Movement  b. Madras Association 
c. Justice Party    d. Dravida Kazhagam 
e. Answer not known 
1916Mk; Mz;L njd;dpe;jpa kf;fs; fofk; vt;thW gpd;dh; 
miof;fg;gl;lJ? 
a. jd;dhl;rp ,af;fk;   b. nrd;id rq;fk; 
c. ePjpf;fl;rp     d. jpuhtpl fofk; 
e. tpil njhpatpy;iy 

 
13. Which political Association became known as Justice Party? 

a. Home rule League   b. Home Rule Movement 
c. South Indian Liberation Front d. South Indian People‟s Association 
e. Answer not known 
ve;j murpay; FO ePjpfl;rpahf khwpaJ? 
a. N`hk;&y; yPf;      
b. N`hk; &y; %t;nkz;l; 
c. rTj; ,z;bad; ypgNurd; gpuz;l;  
d. rTj; ,z;bad; gpa+g;gps;]; mNrhrpNard; 
e. tpil njhpatpy;iy 

 
14. Which of the following idea does not fall within Thanthai Periyar‟s 

definition of Civilization? 
a. Accepting every religion 
b. Trying for others also to get whatever good one has got 
c. The total progress of all human beings 
d. Progress based on the scientific inventions of today and making 

life pleasant 
e. Answer not known 
ehfhpfk; gw;wpa je;ij nghpahhpd; tiuaiwf;Fs; cl;glhj fUj;jhf;fk; 
ahJ? 
a. midj;J kjq;fisAk; Vw;Wf;nfhs;Sjy; 
b. jhd; nfhz;l ed;ikfs; kw;wth;fSf;Fk; gad;gLk; tifapyhd 

Kaw;rpfis Nkw;nfhs;tJ 
c. midj;J kdpjh;fSf;Fkhd Kd;Ndw;wk; 
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d. ,d;iwa mwptpay; fz;Lgpbg;Gfspdhy; Vw;gLk; Kd;Ndw;wKk; 
,dpikahd tho;f;ifAk; 

e. tpil njhpatpy;iy 
 

15. Who started the journal namely „Dravida Pandithan‟? 
a. D. John Rathinam  b. A.P. Periyasamy 
c. Pandithar Munusamy d. Irattai Malai Srinivasan 
e. Answer not known 
jpuhtpl gz;bjd; vd;w gj;jphpf;ifia Muk;gpj;jth; ahh;? 
a. b. [hd; uj;jpdk;  b. v.gp. nghparhkp 
c. gz;bjd; KDrhkp  d. ,ul;ilkiy rPdpthrd; 
e. tpil njhpatpy;iy 

 
16. Who is author of the novel „Manalveedu‟? 

a. Anuthama  b. Bama   c. Ambai  
d. Indumathi  e. Answer not known 
'kzy; tPL" vd;w ehtypd; Mrphpah; ahh;?  
a. mDj;jkh   b. ghkh   c. mk;ig  
c. ,e;Jkjp   e. tpil njhpatpy;iy 

 
17. Which of the following book received Sahitya Academic Award written 

by Melanmai Ponnusamy? 
a. Minsarapoo  b. Kalmaram c. Ahayathukku aduthu veedu 
d. Appavin Sinekidhar  
e. Answer not known 
Nkyhz;ik nghd;Dr;rhkpapd; rhfpj;a mfhnjkp ghpR ngw;w gilg;G vJ?  
a. kpd;rhug;G+   b. fy;kuk;  c. Mfhaj;Jf;F mLj;j tPL  
d. mg;ghtpd; rpNefpjh; e. tpil njhpatpy;iy 

 
18. Who wrote the poem that has this as the opening lines 

- Anbu Sivam irandenbar arivilar? 
a. Pathirakiriyar  b. Pattinathar   c. Bharathiyar 
d. Thirumoolar  e. Answer not known 
'md;G rptkpuz; nld;g uwptpyhh;'- vdj; njhlq;Fk; ghliyg; ghbath; 
ahh;?  
a. gj;jpufphpahh;   b. gl;bdj;jhh;    c. ghujpahh;   
d. jpU%yh;    e. tpil njhpatpy;iy 
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19. Which of the follow epic describes the significance of Thamizhar‟s 
music? 
a. Silapathigaram  b. Manimegalai  c. Neelakesi  
d. Kundalakesi   e. Answer not known 
jkpou;fspd; ,irr; rpwg;gpid vLj;Jiuf;Fk; fhg;gpak; vJ? 
a. rpyg;gjpfhuk;   b. kzpNkfiy  c. ePyNfrp 
d. Fz;lyNfrp   e. tpil njhpatpy;iy 

  

20. Who among the four Nayanmar made his heart the temple for Lord 
Siva? 
a. Kannappar   b. Poosalar  c. Vaayilar 
d. Sambandar   e. Answer not known 
kdj;jhy; rptDf;Ff; Nfhapy; fl;ba ehad;khh; ahh;? 
a. fz;zg;gh;   b. G+ryhh;    c. thapyhh; 
d. rk;ke;jh;   e. tpil njhpatpy;iy 

 

21. What are the characteristics of a classical language? 
(a) It has an  independent literary tradition 
(b) It has a large ancient body of oral literature only 
(c)  It has a large and ancient body of written literature 
a. (a) and (b) only  b. (b) only   c. (c) only 
d. (a) and (c) only  e. Answer not known 
xU nrk;nkhopapd; gz;Gfshf fPo;fhZk; vij/vtw;iw Fwpg;gplyhk;? 
(a) Rje;jpukhd/jdpj;J tpsq;Fk; ,yf;fpa kuG 
(b) ngUk; gz;ila kw;Wk; tha;nkhopapyhd ,yf;fpa ghuk;ghpaj;ij 

kl;LNk nfhz;lJ. 
(c) ngUk; gz;ila kw;Wk; vOjg;gl;l ,yf;fpa ghuk;ghpaj;ij 

nfhz;lJ. 
a. (a) kw;Wk; (b) kl;Lk;  b. (b) kl;Lk;  c. (c) kl;Lk; 
d. (a) kw;Wk; (c) kl;Lk;  e. tpil njhpatpy;iy 

 
22. Which characteristic is expressed in the „Perumpaanatru Padai‟ Verse? 

(“Mahamurai mahamurai nokki Muhanamardhu Aaana viruppin 
Thanin rooti”) 
As the Mother willingly watches over they Child. Himself stood in the 
opposite direction and saw. 
a. Charity (Kodai)    b. Valor (Veeram) 
c. Motherhood (Thaimai)  d. Hospitality (Virundhomputhal) 
e. Answer not known 
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“kfKiw kfKiw Nehf;fp Kfdkh;e;J Mdh tpUg;gpd; jhdpd; W}l;b” 
-,g;ngUk;ghzhw;Wg;gil ghlypy; vg;gz;G ntspg;gLfpwJ? 
a. nfhil   b. tPuk;   c. jha;ik 
d. tpUe;Njhk;Gjy;  e. tpil njhpatpy;iy 

 
23. Which one of the statement is incorrect regarding the Mesolithic period. 

1. It is the Stone age between Palaeolithic period and Mesolithic period. 
2. They used tools of made up of Keny Small Stones 
3. The Their Kadugal of Thirunelveli region belonged to this period. 
4. This people burned their Dead bodies. 
a. 1 only  b. 2 only  c. 3 only  d. 4 only  
e. Answer not known 
(Note: First statement in English is wrong. Key based on Tamil 
Statement) 
fPo;fz;litfspy; ,ilf; fw;fhyk; gw;wpa $w;Wfspy; jtwhdJ vJ? 
1. ,f;fhyk; gioa fw;fhyj;Jf;Fk; Gjpa fw;fhyj;Jf;Fk; ,ilg;gl;l 

fhyk; 
2. ,k;kf;fs; kpfr; rpwpa fw;fshyhd fUtpfis gad;gLj;jpdh;. 
3. jpUney;Ntyp kthl;lj;jpy; fhzg;gLk; Njhpf; fhLfs; ,ilf; 

fw;fhyj;ij rhh;e;jjhf fUjg;gLfpwJ. 
4. ,f;fhy kf;fs; ,we;jth;fis vhpj;jdh;. 
a. 1 kl;Lk; b. 2 kl;Lk; c. 3 kl;Lk;  d. 4 kl;Lk; 
e. tpil njhpatpy;iy 
 

24. Who said “Man is born free, self Respect is his birthright, Social Justice 
ensures social equality”. 
a. Thanthai Periyar  b. B G Tilak  c. Kamaraj 
d. Omanthurar   e. Answer not known 
“kdpjd; Rje;jpukhf gpwf;fpwhd;> Ra khpahij mtdpd; gpwg;Ghpik> 
r%fePjp r%f rkj;Jtj;ij cWjpgLj;Jk;” vd;W $wpath; ahh;? 
a. je;ij nghpahu;  b. ghyfq;fhu jpyfh; c. fhkuh[; 
c. Xke;J}uhh;   e. tpil njhpatpy;iy 

 
25. Which one of the statement is correct regarding Bharathiar? 

1. Bharathiar participated in the Indian National Conference at Kasi in 
1905. 

2. In 1906 he started Balabharata Sabha at Chennai. 
3. He participated „Surat Congress‟ in 1907 along with VOC. 
4. He composed the Poem „Vangame Valiyave‟. 
a. 1, 2 are correct 3, 4 are incorrect  b. 1, 2, 3, 4 statement are correct 
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c. 1, 2, 3 are correct 4 is incorrect  
d. 1, 2, 3, 4 are incorrect statement e. Answer not known 
ghujpahiu gw;wp fPo;fz;l $w;Wfspu; rhpahdJ vJ? 
1. ghujpahh; 1905-y; fhrpapy; eilngw;w ,e;jpa Njrpa fUj;juq;fpy; 

fye;J nfhz;lhh;. 
2. mth; 1906-y; ghy ghuj rgh vd;w mikg;ig nrd;idapy; 

Vw;gLj;jpdhh;. 
3. mth; 1907 Mk; Mz;L #uj; fhq;fpu]; $l;lj;jpy; t.c.rp Ald; 

fye;J nfhz;lhh;. 
4. mth; „tq;fNk thopaNt‟ vd;w ghliy ,aw;wpAs;shh;. 
a. 1> 2 $w;Wfs; rhpahdit 3> 4 $w;Wfs; jtwhdit 
b. 1> 2> 3> 4 $w;Wfs; rhpahdit 
c. 1> 2> 3 $w;Wfs; rhpahdit 4tJ $w;W jtwhdJ 
d. 1> 2> 3> 4 jtwhdJ 
e. tpil njhpatpy;iy 

 
26. Which of the following day was named to celebrate the release of Bipin 

Chandra Pal by Swadeshi Leader of Tamil Nadu. 
a. Day of Deliverance   b. Day of Mourning 
c. Swarajya Day    d. Direct Action Day 
e. Answer not known 
fPo;fz;l ve;j ehshf gpg;gpd; re;jughy; tpLjiy nra;ag;gl;l ehis 
jkpof RNjrp jiyth;fs; ngahpl jpl;lkpl;ldu;? 
a. tpLjiy ehs;    b. Jf;f jpdk; 
c. RNjrp jpdk;    d. Neub eltbf;if ehs; 
e. tpil njhpatpy;iy 

 
27. The Editor of Tamil daily Kudiarasu. 

a. Thanthai Periyar  b. C. Rajaji   c. Satyamurti 
d. C.N. Annadurai  e. Answer not known 
jpdrhp ehspjohd Fbaurpd; Mrphpah; 
a. je;ij nghpahh;   b. rp. uh[h[p  c. rj;jpa%h;j;jp 
d. rp.vd;. mz;hJiu  e. tpil njhpatpy;iy 

 
28. As per „Vel Pari‟ the book written by Thiru. Su. Venkatesan, the Sahitya 

academy winning writer. 
(a) “Paari” was a man of nature who knew birds, insects, plants like the 

back of his hand. 
(b) The story “Vel Pari” was that of conflict between man‟s greed and 

nature. 
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Which of the above statements is/are correct? 
a. (a) only   b. (b) only   c. (a) and (b) 

d. neither (a) nor (b) e. Answer not known 
rhfpj;a mfhlkp ntd;w vOj;jsh; jpU. R. ntq;fNlrd; mth;fshy; 
vOjg;gl;l “Nts; ghhp” vd;w E}ypd; gb cs;s rhpahd 
$w;iw/$w;Wfis Njh;T nra;aTk;. 
(a) “ghhp” gwitfs;> G+r;rpfs;> jhtuq;fs; Mfpatw;iw gw;wp 

njspthfTk;> tphpthfTk; mwpe;jpUe;j ,aw;if rhh;e;j kdpjh; Mthh;. 
(b) “Nts; ghhp” fijahdJ kdpjdpd; Nguhirf;Fk; ,aw;iff;Fk; 

,ilapyhd Kuiz giwrhw;WfpwJ. 
a. (a) kl;Lk;    
b. (b) kl;Lk;   
c. (a) kw;Wk; (b) 
c. (a) Tk; ,y;iy (b)Ak; ,y;iy 
e. tpil njhpatpy;iy 

 
29. Thanthai Periyar wanted people to consider the following as equal to 

their lives  
a. Independence for the motherland b. The family honour 
c. Self-respect     d. Rational faculty 
e. Answer not known 
je;ij nghpahh;> kf;fs; jq;fs; capUf;F xg;ghf vz;z Ntz;Lk; vd 
tpUk;gpaJ 
a. jha; ehl;bd; tpLjiy   b. FLk;g fTutk; 
c. Ra khpahij     d. gFj;jwpAk; jpwd; 
e. tpil njhpatpy;iy 

 
30. Identify the Personality:  

a. He was honoured with such titles as Rao Sahib, Rao Bahadur and 
Divan Bahadur for his selfless social services he did for the 
marginalized in the caste order.  

b. His autobiography is Jeeviya Saritha Surukkam which is one of the 
earliest autobiographies.  

c. He founded the Adi Dravida Mahajana Sabha 
Who he is?  
 a. Thanthai Periyar    b. Rettai Malai Srinivasan  

 c. M.C. Rajah    d. M. Singaravelar  
 e. Answer not known 
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MSikia milahsk; fhzTk;  

a. rhjp thpirapy; xJf;fg;gl;lth;fSf;fhf mth; nra;j jd;dykw;w  
r%f NritfSf;fhf uht; gfJ}h;> uht; rhfpg; kw;Wk; jpthd; gfJ}h; 
vd;w gl;lq;fis nfhLj;J nfsutpf;fg;gl;lhh;.  

b. mtuJ Rarhpij [Ptpa rhpj RUf;fk; Muk;gfhy Rarhpijfspy; 
xd;whFk;.  

c. mth; Mjp jpuhtpl kfh[d rigia epWtpdhh;.  
  ahh; Mth;?  
a. je;ij nghpahh;    b. ,ul;il kiy =dpthrd;  
c. vk;.rp. uh[h     d. vk;. rpq;fhu Ntyh;  
e. tpil njhpatpy;iy  

 
31. Who first introduced Cartoons picture in Tamil Magazine? 

a. Ramnath Goenka   b. T.V. Ramasubbaiyer 
c. C. Subrahmanya Bharathi  d. G. Subramanya Iyer 
e. Answer not known 
Kjd; Kjypy; fUj;Jg;glq;fis jkpo; ,jo;fspy; mwpKfg;gLj;jpath; 
ahh;? 
a. uhk;ehj; Nfhaq;fh   b. T.V. uhkRg;igah 
c. C. Rg;gpukz;a ghujp   d. G. Rg;gpukz;a Iah; 
e. tpil njhpatpy;iy 
 

32. Name the women leader who participated in the Neil Statue Satyagraha 
in Tamilnadu in 1927 
a. K.P. Sundarambal   b. Padmasani Ammal 

c. Muthulakshmi Reddi   d. Selvi Dugabai 
e. Answer not known 
jkpofj;jpy; 1927 Mk; Mz;L> ePy; cUt rpiy rj;jpafpuf Nghuhl;lj;jpy; 
fye;J nfhz;l ngz;kzp (jpahfp)  
a. Nf.gp. Re;juhk;ghs;  b. gj;khrhsp mk;khs;  c. Kj;Jyl;Rkp nul;b  
d. nry;tp Jh;f;fhgha;  e. tpil njhpatpy;iy 
 

33. Which one of the following statements is/are correct regarding 
Chenbagaraman Pillai? 
1. He hailed from Kanyakumari dist. Of Travengore State 
2. He started Bharatha Matha Valibar Sangam 
3. He married Laxmibai of Indian National Army in 1931 
4. He joined the German Army and fight against the English in I 

World war 
a. 1, 2, 3 are correct 4 incorrect b. 1, 2 are correct 3, 4 are incorrect 
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c. 1, 3, 4 are correct 2 is incorrect d. 1, 2, 3, 4 are correct 

e. Answer not known 
fPo;tUk; $w;Wfspy; nrz;gfuhkd; gps;is gw;wpa rhpahd $w;W / 
$w;Wfs; vit?  
1. ,th; jpUthq;$h; murpy; fd;dpahFkhp khtl;lj;ij rhh;e;jth;  
2. ,th; ghuj khjh thypgh; rq;fk; vd;Dk; mikg;ig Njhw;Wtpj;jhh;.  
3. ,th; ,e;jpa Njrpa uhZtj;ij rhh;e;j yl;Rkpghia 1931 y; 

jpUkzk; nra;J nfhz;lhh;.  
4. ,th; n[h;khdpa gilapy; Nrh;e;J Kjy; cyfg;Nghhpy; 

Mq;fpNyaUf:F vjpuhf Nghuhbdhh;.  
a. 1, 2, 3 rhp> 4 jtwhdJ     
b. 1, 2 rhpahdJ 3, 4 jtwhdJ  
c. 1, 3, 4 rhpahdJ 2 kl;Lk; jtwhdJ  
d. 1, 2, 3, 4 rhpahdJ  
e. tpil njhpatpy;iy 

 

34. Which Woman Freedom fighter participated in the Madras salt 
Satyagraha? 
a. K.P. Sundarambal   b. Muthulaxmi Reddi 
c. Selvi Durgabai    d. Padmashini Ammal 
e. Answer not known 
ve;j tpLjiyg; Nghuhl;l ngz;kzp nkl;uh]; cg;G rj;jpahfpufj;jpy; 
fye;J nfhz;lhh;?  
a. Nf.gp. Rejuhk;ghs;  b. Kj;Jyl;Rkp nul;b  c. nry;tp Jh;f;fhgha; 
d. gj;khrpdp mk;khs;  e. tpil njhpatpy;iy 

 

35. Which one of the factors responsible for the South Indian Rebellion? 
i. Company Reforms in the Palayam 
ii. Economic exploitation and heavy taxation of the company 
iii. Famine in 1798 
iv. Frequent wars of the company 
a. i only   b. (ii) only   c. (iii) only 
d. (i), (ii), (iii), (iv)  e. Answer not known 
fPo;fz;l fhuzpfspy; njd;dpe;jpa fpsh;r;rpf;F fhuzkhf mike;jJ vJ?  
i. ghisaq;fspy; fk;ngdpapd; rPh;jpUj;jq;fs;  
ii. fk;ngdp nghUshjhu Ruz;ly; kw;Wk; mjpfgbahd thp tpjpg;G  
iii. 1798 y; Vw;gl;l gQ;rk;  
iv. fk;ngdp elj;jpa mbf;fbahd Nghh;fs;  
a. i kl;Lk;    b. ii kl;Lk;   c. iii kl;Lk;  
c. i, ii, iii, iv    e. tpil njhpatpy;iy 
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36. Who was called the “King of the Two Worlds”? 

a. Tipu Sultan    b. Hyder Ali   
c. Doondaji Waugh   d. Veerapandiyan Kattabomman 
e. Answer not known 
,uz;L cyfpw;Fk; murd; vd;W miof;fg;gLgth; ahh;? 
a. jpg;G Ry;jhd;  b. i`jh; myp  c. J}z;lh[p thf; 
d. tPughz;ba fl;lnghk;kd; e. tpil njhpatpy;iy 

 
37. In 1929, at a „Self Respect Movement‟ conference in Chengalpattu, 

Thanthai Periyar passed a resolution relating to an important matter – 
- In 1989, 60 years later, Tamilnadu had passed a law in this regard.  
- On August 11, 2020 Supreme Court passed a judgment in this 

regard. 
What is this? 
a. Giving equal rights to woman in Government employment 
b. Giving equal rights to woman in family properties 
c. Giving priority to certain communities in acquiring land rights 
d. Giving priority to certain sects in accessing holy places 
e. Answer not known 
1929 Mk; Mz;L nrq;fy;gl;by; $l;lg;gl;l Rakhpahij ,af;f 
khehl;by;> je;ij nghpahh; Xh; Kf;fpa tplak; njhlh;ghd; jPh;khdj;ij 
,aw;wpdhh;. 

- Rkhh; 60 Mz;LfSf;F gpwF 1989 Mk; Mz;bd;> jkpofk; mjid 
rl;lkhf ,aw;wpaJ. 

- Mf];l; 11> 2020y; cr;rePjpkd;wk; mJ njhlh;ghd jPh;g;igAk; 
toq;fpaJ. 

Nky;fhZk; gj;jpapy; $wg;gl;l tplak; ahJ? 
a. ngz;Zf;F muR Ntiy tha;g;gpy; rk chpik 
b. FLk;g nrhj;jpy; ngz;Zf;F rk chpik 
c. xU rpy r%fq;fSf;F epyk; chpik ngWtjpy; Kd;Dhpik 
d. xU rpy gphpTfSf;F Gdpj ,lq;fspy; Eiotjpy; Kd;Dhpik 
e. tpil njhpatpy;iy 

 
 

Thirukkural  
 

1. “________, ________, _________ these three for aye to rulers of the land 
belong” 
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In the above Thirukural the word “These three” means 
a. Education, wealth, bravery  
b. Virtue, wealth, bliss 
c. Sleepless promptitude, knowledge, decision making 
d. Love, Decency, Affection 
e. Answer not known 
________, _____________, ____________ ,k;%d;Wk;  
ePq;fh epyths; gtw;F.  
Nkw;fhZk; jpUf;Fwspy; ,lk;ngWk; ',k;%d;Wk;' vd;Dk; nrhy; 
Fwpg;git.  
a. fy;tp> nry;tk;> tPuk;   b. mwk;> nghUs;> ,d;gk;  
c. J}q;fhik> fy;tp> JzpT   d. md;G> gz;G> ghrk;  
e. tpil njhpatpy;iy 

 
2. Whom does Valluvar call a fool, though he is learned and scholarly? 

a. One who fears to talk in the assembly of the learned 
b. One who does not get along with the society 
c. One who fears to go to the battlefield 
d. One who fears the rich 
e. Answer not known 
gyfw;Wk; mwptpyhjhh; vd ts;Sth; ahiur; Rl;Lfpwhh;?  
a. fw;Nwhh; mitapy; Ngr mQ;Rfpd;wtiu  
b. cyfj;NjhL xj;J elf;fhjtiu  
c. Nghh;f;fsj;jpw;Fr; nry;y mQ;Rfpd;wtiu  
d. nry;te;jiuf; fz;L mQ;Rfpd;wtiu  
e. tpil njhpatpy;iy 

 
3. “_________ These four a light of dreaded kings reveal” What are the four 

virtues of a King according to Thiruvalluvar? 
a. Creation, Production, Protection, Planning 
b. Morality, Wealth, Happiness, Eternal dwelling place 
c. Beneficience, Benevolence, Rectitude and care for his people 
d. All the above 
e. Answer not known 
“________ ehd;Fk; cilahdhk; Nte;jh;f;F xsp"> vd ts;Sth; vtw;iw 

Nte;jDf;Ff; $Wfpwhh;?  
a. ,aw;wy;> <l;ly;> fhj;jy;> fhj;jtFj;jy;  
b. mwk;> nghUs;> ,d;gk;> tPL  
c. nfhil> fUiz> ePjp> jsh;e;j Fbfisf; fhj;jy;  
d. Nkw;fz;l midj;Jk;  
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e. tpil njhpatpy;iy 
 

4. What does the following Thirukkural reiterate? “who with deceitful 
mind in false way walks of covert sin, The five-fold elements his frame 
compose, deride within” 
(“Vanja manathan Paditrolukkam Boothangal 
Aainthum agathe nagum”) 
a. False respect  b. False truth  c. False behaviour 
d. False pretence  e. Answer not known 
tQ;r kdj;jhd; gbw;nwhOf;fk; G+jq;fs;  
Ie;Jk; mfj;Nj eFk; - ,jpy; typAWj;jg;gLtJ vJ?  
a. Nghyp khpahij  b. Nghyp cz;ik  c. Nghyp xOf;fk;   
d. Nghyp ebg;G   e. tpil njhpatpy;iy 

 
5. How does Thiruvalluvar guide us to overcome trouble? 

a. Accepting trouble   b. Fighting trouble 
c. Giving trouble to the trouble d. Feeling Remorse for the trouble 
e. Answer not known 
Jd;gj;ij vt;thW nty;y Ntz;Lk; vd;W jpUts;Sth; 
newpg;gLj;Jfpwhh;?  
a. mg;gbNa Vw;Wf;nfhs;Sjy;   b. vjph;j;Jg; NghuhLjy;  
c. Jd;gj;jpw;F Jd;gk; nfhLj;jy;   d. Jd;gj;jpd; NghJ tUe;Jjy;  
e. tpil njhpatpy;iy 

 
6. “_________ Irandum Thangaa Viyanulagam 

Vaanam Vazhangadhu enin” 
(Though the wide world lease ______ and _________ if heaven its 
watery treasures cases to dispense) 
What are the two good deeds that will not happen according to this 
kural? 
a. Charity, Love (Dharmam, Anbu)  
b. Gifts, Austerities (Dhaanam, Thavam) 
c. Penitence, Pleasure (Thavam, Inbam) 
d. Virtue, Money (Aram, Porul) 
d. Answer not known 
"__________ ,uz;Lk; jq;fh tpaDyfk;  
thdk; toq;fhJ vdpd;"  
Nkw;fhZk; jpUf;Fws; vt;tpidfs; eilngwhJ vd;W $WfpwJ? 
a. jh;kk;> md;G   b. jhdk;> jtk;   c. jtk;> ,d;gk;  
d. mwk;> nghUs;  e. tpil njhpatpy;iy 
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7. Whom does Valluvar refer to as blocks in the kural 

“Arampolun koormaiyar renu marampolvar” 
(“Though sharp their wit as file, as blocks they must remain..”) 
a. Those who speak useless words 
b. Those who are void of humane courtesy 
c. Those who do not have love in their hearts 
d. Those who covet others things 
e. Answer not known 
"muk;NghYk; $h;ika NuDk; kuk;Nghy;th;"  
 kuk; Nghd;wth;fs; vd;W ts;Stuhy; Fwpg;gplg;gLgth; ahh;?  
a. gadpy; nrhy; NgRgth;   b. kf;fs; gz;G ,y;yhjth;  
c. mfj;jpy; md;G ,y;yhjth;  d. gpwhpd; nghUSf;F Mirg;gLgth;  
e. tpil njhpatpy;iy 
 

8. According to Thiruvalluvar „what is friendship with the good‟ compared 
to? 
a. Having friends who made our heart happy 
b. Having books that give perpetual delight 
c. Having a face that shows anger 
d. Having a staff that measures one‟s friends 
e. Answer not known 
gapy;njhWk; gz;Gilahsh; njhlh;G vijg; Nghd;wJ vd jpUts;Sth; 
$Wfpwhh;?  
a. mfef el;gJ Nghd;wJ    
b. etpy;njhWk; E}y; eak; Nghd;wJ  
b. fLj;jJk; fhl;Lk; Kfk; Nghd;wJ   
d. fpisQiu ePl;b msg;gNjhh; Nfhy; Nghd;wJ  
e. tpil njhpatpy;iy 

 

9. The saying “Thirukkural” has a balanced religious quality is because 
1. People from all religions say that it belongs to them 
2. Because people who say there is God and people who say there is no 

God accept it whole heartedly 
3. It is beyond type, caste, religion, class 
4. Because it writes about ethics and knowledge needed for human race 
a. only 1 is right  b. only 2 is right  c. only 3 and 4 are right 
d. all the above are right e. Answer not known 
'rka eLepiyg; gz;G" nfhz;lJ jpUf;Fws; vd;ghh; ,f;$w;Wf;F 

fhuzk;  
1. vy;yhr; rkaj;jtUk; ,J vk; E}y; vd;W $Wk; rpwg;Gg; ngw;wjhy;  
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2. flTs; cz;L vd;gth; kl;Lkpd;wp ,y;iy vd;gtUk; cte;J Vw;Fk; 
rpwg;Gg; ngw;wjhy;  

3. ,dk;> rhjp> rkak;. tFg;G vy;yhtw;wpw;Fk; mg;ghw;gl;ljhy;  
4. kdpj ,dj;jpw;Fg; nghJthd xOf;fKk;. mwpTk; mwpTWj;jg;gLtjhy;  
a. 1 kl;Lk; rhp    b. 2 kl;Lk; rhp  
c. 3 kw;Wk; 4 kl;Lk; rhp   d. midj;Jk; rhp  
e. tpil njhpatpy;iy 

 
Current affairs 

 
1. This place is located 12 km South East of Madurai. It proves the fact that 

an urban civilization existed in Tamilnadu in the Sangam era on the 
banks of the river Vaigai. A researcher and retired civil servant Thiru R. 
Balakrishnan points to the similarities between this civilization and 
Indus Valley Civilization. 
Which of the following places is described in the paragraph above? 
a. Azhagankulam b. Porunthal  c. Keeladi 
d. Kodumanal  e. Answer not known 
,t;tplk; kJiuapypUe;J njd;fpof;F jpirapy;> 12 fp.kP njhiytpy; 
mike;Js;sJ. jkpofj;jpy; itif Mw;wq;fiuapy; rq;ffhy efu 
ehfhpfk; mike;jpUe;jJ gw;wpa cz;ikia giwrhw;WfpwJ. 
Muha;r;rpahsUk; Xa;T ngw;w muR mjpfhhpAkhd jpU. Mh; 
ghyfpU~;zd;> ,q;F mike;jpUe;j ehfhpfj;jpw;Fk; rpe;J rkntsp 
ehfhpfj;jpw;Fk; cs;s xw;Wikfis Rl;bf;fhl;Lfpwhh; 
a. mofd;Fsk;  b. nghUe;jy;   c. fPob 
d. nfhLkzy;  e. tpil njhpatpy;iy 

 
 

UNIT – IX: Development Administration in  
Tamil Nadu 

 
Policy 
 

1. Which of the following objective are true with relevant of Tamil Nadu 
Social Welfare Board? 
I. Upliftment of people living below poverty line through voluntary 

institutions in the state 
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II. To promote setting up of Non-governmental Social Welfare 
Organisations 

III. To render technical and financial assistance to the voluntary 
institutions for better quality and standard of services 

IV. To strive for equality between men and women 
a. I, II and IV  b. II, III and IV  c. I, III and IV 
d. I, II and III  e. Answer not known 
jkpo;ehL r%f ey thhpaj;Jld; njhlh;Gila gpd;tUk; Nehf;fq;fspy; 

vJ cz;ik?  
I. khepyj;jpy; cs;s jd;dhh;t epWtdq;fs; %yk; tWikf; 

Nfhl;Lf;Ff; fPo; thOk; kf;fspd; Nkk;ghL 
II. muR rhuh r%f ey mikg;Gfis Cf;Ftpj;jy;  
III. rpwe;j juk; kw;Wk; Nritfspd; juj;jpw;fhf jd;dhh;t 

epWtdq;fSf;F njhopy;El;g kw;Wk; epjp cjtpfis toq;Fjy;  
IV. Mz;fSf;Fk; ngz;fSf;Fk; ,ilapyhd rkj;Jtj;jpw;fhf 

ghLgLtJ 
 a. I, II kw;Wk; IV     b. II, III kw;Wk; IV  
 c. I, III kw;Wk; IV    d. I, II kw;Wk; III  
 e. tpil njhpatpiy  

 
2. Name the first backward classes commission established in the year 1953 

a. Mandal Commission   
b. Kalelkar Commission 
c. Harbajan Commission  
d. National Commission for backward 
e. Answer not known 
1953y; epWtg;gl;l Kjy; gpw;gLJ;jg;gl;l tFg;Gfs; Mizaj;jpd; 
ngaiuf; Fwpg;gplTk; 
a. kz;ly; Mizak;   
b. fhNyy;fh; Mizak;  
c. `h;g[d; Mizak;   
d. gpd;jq;fpa tFg;GfSf;fhd Njrpa Mizak; 
e. tpil njhpatpy;iy 

 
3. Which of the following statements regarding Arignar Anna is / are 

correct? 
a. He served as the sub editor of the “Justice” Magazine 
b. He became editor for “Viduthalai” 
c. He was associated with activities related to Tamil Weekly paper 

“Mudi Arasu” 
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a. (a) only   b. (a) and (b)   c. (b) and (c) 
d. (a), (b) and (c)  e. Answer not known 
mwpQh; mz;zh gw;wpa rhpahd $w;iw / $w;Wfis Njh;T nra;aTk; 
a. mth; „ePjp‟ gj;jphpf;ifapd; Jiz Mrphpauhf gzpahw;wpdhh; 
b. „tpLjiy‟ gj;jphpf;ifapd; Mrphpauhf gzpahw;wpdhh; 
c. KbauR vd;Dk; jkpo; thu ,jo; njhlh;ghd gzpfspy; <Lgl;lhh; 
a. (a) kl;Lk;   b. (a) kw;Wk; (b)   c. (b) kw;Wk; (c) 
d. (a), (b) kw;Wk; (c) d. tpil njhpatpy;iy 

 
4. Which among the following statements is not an objective of “Cradle 

Baby Scheme” 
a. To ensure adoption of family planning  
b. To eradicate female infanticide 
c. To increase child sex ratio 
d. To increase the rate of girl child literacy 
e. Answer not known 
gpd;tUk; $w;Wf;fspy; „njhl;by; Foe;ij jpl;lj;jpd;‟ Nehf;fk; my;yhjJ 

vJ? 
a. FLk;gf; fl;Lg;ghL Kiwia cWjp nra;tJ 
b. ngz; rpRf;nfhiyia xopg;gJ 
c. Foe;ij ghypd tpfpjj;ij mjpfhpg;gJ 
d. ngz; Foe;ijfspd; fy;tpawpit mjpfhpg;gJ 
e. tpil njhpatpy;iy 

 
5. I. To transfer the substantive provisions under the Indian Penal Code 

II. Dowry givers should be excluded from punishment 
III. Appointment of Dowry Prohibition Officers 
IV. The marriage expenses should be limited to 20% of the annual 
income of the girls‟ parents / guardian 
Which of the above statements is/are true concerning the Dowry 
Prohibition Act, 1961? 
a. I only   b. II only   c. I and III only 
d. All of the above d. Answer not known 
I. ,e;jpa jz;lidr; rl;lj;jpd; fPo; fzprkhd tpjpfis khw;WtJ 
II. tujl;riz nfhLg;gth;fs; jz;lidapypUe;J tpyf;fg;glNtz;Lk; 
III. tujl;riz jil mjpfhhpfis epakpj;jy; 
IV. jpUkzr; nryTfs; ngz;fspd; ngw;Nwhh; / ghJfhtypd; Mz;L 

tUkhdj;jpy; 20%f;Fs; ,Uf;f Ntz;Lk; 
1961 tujl;riz jilr;rl;lk; njhlh;ghd Nkw;fz;l $w;Wfspy; 
vJ/vit cz;ik? 
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a. I kl;Lk;    b. II kl;Lk;   c. I kw;Wk; III kl;Lk; 
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
 

6. Name the Chief Minister of Tamil Nadu, during Anti-Hindi agitation in 
1965? 
a. Kamaraj   b. Rajaji   c. Bhaktavatsalam 

d. Sathiyamoorthy e. Answer not known 
1965,y; ,e;jp vjph;g;G Nghuhl;lk; ele;j NghJ jkpo;ehl;by; ahh; 
Kjyikr;ruhf ,Ue;jhh;? 
a. fhkuh[h;   b. ,uh[h[p  c. gf;jtr;ryk; 
d. rj;jpa%h;j;jp  e. tpil njhpatpy;iy 
 

7. A Chief Minister supported by Thanthai Periyar challenged that “Show 
me a person who died because a lower caste doctor wrongly injected or 
show me a building that collapsed because it was built by a low caste 
engineer”. It was 
a. Omandur Ramasamy   b. Kamarajar 

c. Arignar Anna    d. Kalaignar M. Karunanidhi 
e. Answer not known 
je;ij nghpahhpd; MjuTld; Kjyikr;rh; xUth; ,t;thW rthy; 
tpLj;jhh; : “jho;e;j rhjp kUj;Jth; jtwhf Crp Nghl;ljhy; ,we;j xU 
kdpjiu vd;dplk; fhz;gpf;fTk; my;yJ jho;e;j rhjp nghwpahsuhy; 
jfh;e;J Nghd Xh; fl;blj;ij vd;dplk; fhz;gpf;fTk;.” ,t;thW $wpath; 
ahh;? 
a. Xke;J}h; ,uhkrhkp   b. fhkuh[h; 
c. mwpQh; mz;zh   d. fiyQh;. K. fUzhepjp 
e. tpil njhpatpy;iy  
 

8. Which of the following incidents led Thanthai Periyar to agitate for 
Communal reservation:  
a. Representation for the backward classes was very little in 

Government jobs 
b. The Central Government resolved to invalidate the communal 

reservation  
c. The State Government resolved to invalidate communal reservation  
d. The High Court and the Supreme court declared as invalid the 

Communal reservation for professional courses  
e.  Answer not known 
fPo;fhZk; ve;j rk;gtq;fs; je;ij nghpahhiu tFg;Gthj ,l xJf;fPL 
Njit vd;w fpsh;r;rpia Nehf;fp ce;jpaJ.  
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a. muR Ntiyfspy; gpd;jq;fpa tFg;Gfspd; kpff; Fiwthd 
gpujpepjpj;Jtk;  

b. tFg;Gthhpahd ,lg;gq;fPL nry;yhJ vd kj;jpa muR ,aw;wpa 
jPh;khdk;  

c. tFg;Gthhpahd ,lg;gq;fPL nry;yhJ vd khepy muR ,aw;wpa 
jPh;khdk;  

d. njhopw;rhw; fy;tpapy; tFg;Gthhpahd ,lg;gq;fPL nry;yhJ vd 
cah;ePjpkd;wKk; cr;rePjpkd;wKk; mwptpj;jJ  

e. tpil njhpatpy;iy  
 

9. Why Chennai is called as 'Detroit of Asia"?  
a. Due to the presence of Textile Industry  
b. Due to the presence of Automobile Industry  
c. Due to the presence of Leather industry  
d. Due to the presence of Film Industry  
e. Answer not known 
"Mrpahtpd; nll;uha;l;" vd;W nrd;id Vd; miof;fg;gLfpwJ?  
a. [Tspj; njhopy; ,Ug;gjdhy;  
b. Nkhl;lhh; thfdj; njhopy; ,Ug;gjdhy;  
c. Njhy; njhopy; ,Ug;gjdhy;  
d. jpug;glj; njhopy; ,Ug;gjdhy;  
e. tpil njhpatpy;iy  

 
10. "Post – Tsunami sustainable livelihood programme for the coastal 

communities of Tamil Nadu" is assisted by 
a. World Bank    
b. International Fund for Agricultural Development  
c. Asian Development Bank 
d. International Monetary Fund  
e. Answer not known 
jkpo;ehl;by; cs;s flNyhu kf;fSf;fhd Rdhkpf;F gpd; epiyj;j 
tho;thjhu jpl;lj;jpw;F __________ cjTfpwJ.  
a. cyf tq;fp     
b. tptrha Nkk;ghl;bw;fhd rh;tNjr epjpak;  
c. Mrpa tsh;r;rp tq;fp   
d. rh;tNjr ehza epjpak;  
e. tpil njhpatpy;iy  
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ECONOMICS  
 

11. Which District is occupying the last rank in Human Development Index 
in Tamil Nadu? 
a. Villupuram  b. Theni   c. Perambalur 
d. Ariyalur   e. Answer not known 
jkpo;ehl;bd; ve;j khtl;lk; kdpj Nkk;ghl;L ml;ltizapy; filrpaplk; 
tfpf;fpd;wJ? 
a. tpOg;Guk;   b. Njdp   c. nguk;gY}h; 
d. mhpaY}h;   d. tpil njhpatpy;iy 

 
12. Child Development Index takes into account of the following factors 

I. Education II. Income  III. Health  IV. Nutritional status 
Select the appropriate combination 
a. I, II and III  b. I, III and IV  c. I, II and IV 
d. II, III and IV  e. Answer not known 
Foe;ij Nkk;ghl;Lf; FwpaPL gpd;tUk; fhuzpfisf; fzf;fpy; 
vLj;Jf;nfhs;fpwJ 
I. fy;tp II. tUkhdk; III. Rfhjhuk; IV. Cl;lr;rj;J epiy 
rhpahd Nrh;f;ifia Njh;T nra;aTk; 
a. I, II kw;Wk; II  b. I, III kw;Wk; IV  c. I, II kw;Wk; IV 
d. II, III kw;Wk; IV  e. tpil njhpatpy;iy 

 

CURRENT AFFAIRS  
 

13. With regard to the review related to the Tamil Film and master piece 
„Pariyeum Perumal‟, Choose the correct statement(s) 

(a) Shows the ill effects of caste system 
(b) It won the Film Fare Award under the „Best Film‟ category. 
(c) It was a movie directed by Thiru Mari Selvaraj and produced by 

Neelam productions. 
a. (a) only   b. (a) and (b) only  c. (a), (b) and (c) 

d. (c) only   e. Answer not known 
jiyrpwe;j gilg;ghd “ghpNaWk; ngUkhs;” vd;w jkpo; jpiuglk; 

gw;wpa tpkh;rdk; Fwpj;j fPo;fhZk; $w;Wfspy;/$w;wpy; rhpahdtw;iw 
Njh;T nraaTk;. 

(a) ,g;glk; rhjpa fl;likg;gpd; nfhba tpisTfis Rl;bf;fhl;LfpwJ. 
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(b) ,g;glk; „kpfr;rpwe;j glk;‟ vd;w thpirapy; gpypk;Ngh; tpUJ ngw;wJ 
(c) ,g;glk; jpU. khhp nry;tuh[hy; ,af;fg;gl;L> ePyk; jahhpg;G 

FOkj;jhy; ntspaplg;gl;lJ. 
a. (a) kl;Lk;     b. (a) kw;Wk; (b) kl;Lk;  
c. (a)> (b) kw;Wk; (c)   d. (c) kl;Lk; 
e. tpil njhpatpy;iy 

 
14. According to All India Survey for Higher Education 2019, Which State 

produced the maximum number of Ph.Ds. in the country in 2018?  
a. Tamil Nadu   b. Kerala    c. Maharastra  
d. Gujarat   e. Answer not known 
midj;J ,e;jpa cah; fy;tpf;fhd fzf;nfLg;G 2019 apd; gb ve;j 
khepyk; 2018 apy; mjpfgl;r vz;zpf;ifapyhd gp.vr;.b fis 
(Kidth;fis) cUthf;fpAs;sJ?  
a. jkpo;ehL    b. Nfush   c. kfhuh~;buh  
d. F[uhj;   e. tpil njhpatpy;iy  

 
 
 

UNIT – X MENTAL ABILITY 
 

1. Find the value of k if 
13 + 23 + ......... + k3 = 44100 
a. 20  b. 21  c. 22  d. 23  e. Answer not known  
d; kjpg;G fhz;f.  
13 + 23 + ......... + k3 = 44100 
a. 20  b. 21  c. 22  d. 23   e. tpil njhpatpy;iy  
 
 

2. If A = 265 and B = 264 + 263 + 262 + 20 Which of the following is true?  
a. B is larger than A by 1  b. A is larger than B by 1 

c. A and B are equal    d. B is 264 more than A 
e. Answer not known  
A = 265 kw;Wk; B = 264 + 263 + 262 + 20 vdf; nfhLf;fg;gl;Ls;sJ vdpy; 
gpd;tUtdtw;wpy; vJ cz;ik?  
a. B MdJ A I tpl 1 mjpfk;  b. A MdJ B I tpl 1 mjpfk;  
c. A kw;Wk; B rkk;     d. B MdJ A I tpl 264 
mjpfk;  
e. tpil njhpatpy;iy  
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3. Find the missing number:  
3, 12, 27, 48, 75, 108, __________ 
a. 147  b. 162 c. 183  d. 192   e. Answer not known  
tpLgl;l vz;izf; fhz;f:  
3, 12, 27, 48, 75, 108, __________ 
a. 147  b. 162 c. 183  d. 192  e. tpil njhpatpy;iy  
 

4. In the given number pattern find the next term. 
21 321 4321

, , ,
33 444 5555

__________ 

a. 7531

6666
  b. 1234

5555
  c. 4321

2222
 d. 54321

66666
 e. Answer not known  

vd;w mikg;gpy; mLj;j vz;izf; fhz;f.  
21 321 4321

, , ,
33 444 5555

__________ 

a. 7531

6666
  b. 1234

5555
  c. 4321

2222
 d. 54321

66666
 e. tpil njhpatpy;iy  

 
5. If 'HUMBLE" is given by the code EHLUBM. What does the code 

EDUCATION mean?  
a. NEDOIUTCA   b. NEOIDUTCA 
c. NEDUOITCA   d. NEODIUTCA  
e. Answer not known  
HUMBLE vd;gij EHLUBM vDk; FwpaPl;lhy; jug;gbd; 
EDUCATION vDk; FwpaPL vjidf; Fwpf;Fk;?  
a. NEDOIUTCA   b. NEOIDUTCA 
c. NEDUOITCA   d. NEODIUTCA  
e. tpil njhpatpy;iy  
 

6. What is the probability of getting and even number when a die is 
thrown? 

a. 1

6
  b. 2

3
   c. 1

2
  d. 5

6
 e. Answer not known  

xU gfilia cUl;Lk;nghOJ XH; ,ul;ilg;gil vz; fpilg;gjw;fhd 
epof;jfT ahJ?  

a. 1

6
  b. 2

3
   c. 1

2
  d. 5

6
e. tpil njhpatpy;iy  

 
7. The present ages of Arun and Suresh are 24 years and 36 years 

respectively. What was the ratio between the ages of Suresh and Arun, 8 
years ago?  
a. 4 : 7  b. 6 : 5  c. 7 : 4 d. 3 : 2 e. Answer not known  
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mUz; kw;Wk; RNu~; jw;Nghija taJfs; KiwNa 24 tUlq;fs; kw;Wk; 
36 tUlq;fs; vdpy; 8 Mz;LfSf;F Kd;G RNu~; kw;Wk; mUz; 
taJfspd; tpfpjk; vd;dthf ,Ue;jpUf;Fk;?  
a. 4 : 7  b. 6 : 5 c. 7 : 4 d. 3 : 2 e. tpil njhpatpy;iy  
 

8. A and B together can do a piece of work in 16 days and A alone can do it 
in 48 days. How long will  B alone take to complete the work?  
a. 18 days  b. 24 days   c. 28 days    
d. 30 days   e. Answer not known  
A kw;Wk; B Mfpa ,UtUk; ,ize;J xU Ntiyia 16 ehl;fspy; 
Kbg;gh;. A jdpNa me;j Ntiyia 48 ehl;fspy; Kbg;ghh;. vdpy;> B 
jdpNa me;J Ntiyia vj;id ehl;fspy; Kbg;ghh;?  
a. 18 ehl;fs;   b. 24 ehl;fs;   c. 28 ehl;fs;  
d. 30 ehl;fs;   e. tpil njhpatpy;iy  
 

9. 210 men working 12 hours a day can finish a job in 18 days. How many 
men are required to finish the job in 20 days working 14 hours a day?  
a. 156 men   b. 162 men  c. 168 men   
d. 172 men   e. Answer not known  
210 Mz;fs; ehnshd;Wf;F 12 kzp Neuk; Ntiy nra;J xU Ntiyia 
18 ehl;fspy; Kbg;gh;. mNj Ntiyia ehnshd;Wf;F 14 kzp Neuk; 
Ntiy nra;J 20 ehl;fspy; Kbf;f vj;jid Mz;fs; Njit?  
a. 156 Mz;Lfs;   b. 162 Mz;fs;  c. 168 Mz;Lfs;   
d. 172 Mz;fs;   e. tpil njhpatpy;iy  
 

10. If 5 persons complete 5 projects in 5 days then 50 persons complete 50 
projects in _________ days. 
a. 5 days   b. 10 days   c. 50 days  d. 55 days  
e. Answer not known  
5 egh;fs; 5 Ntiyia 5 ehl;fspy; nra;J Kbg;gh;. vdpy;> 50 egh;fs; 50 
Ntiyfis _______ ehl;fspy; nra;J Kbg;gh;.  
a. 5 ehl;fs;  b. 10 ehl;fs;   c. 50 ehl;fs;  
d. 55 ehl;fs;  e. tpil njhpatpy;iy  
 

11. A mason uses the expression 2x3 + 16 to represent the area of the 
rectangular floor of a room. If the decides that the length of the room 
will be represented by 2(x+2) then what will the width of the room be 
represented in terms of x?  
a. 2 (x – 2)    b. (x2 – 4)    c. (x2 – 2x + 4)   
d. (x2 + 2x - 4)   e. Answer not known  
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fl;bl Ntiyahs; xUth; miwapd; nrt;tf tbt jiuapd; gug;gsT 2x3 
+ 16 vdj; jPh;khdpj;Jf; nfhz;lhh;. mjd; ePsk; 2(x+2)  vdf; 
Fwpf;fg;gl;lhy; mfykhdJ x – d; rhh;ghf gpd;tUtdtw;Ws; vJ?  
a. 2 (x – 2)    b. (x2 – 4)    c. (x2 – 2x + 4)   
d. (x2 + 2x - 4)   e. tpil njhpatpy;iy  
 

12. The volume of a solid hemisphere is 29106 cm3. Another hemisphere 
whose volume is two-third of the above is carved out. Find the radius of 
the new hemisphere.  
a. 21.5 cm   b. 12 cm    c. 21 cm  
d. 23 cm    e. Answer not known  
xU jpz;k miuf;Nfhsj;jpd; fd msT 29106 f.nrkP %d;wpy; ,uz;L 
gq;F fd msTs;s kw;Nwhh; miuf;Nfhsk; ,jpypUe;J 
nfJf;fg;gLkhdhy; Gjpa miuNfhsj;jpd; Muk; vd;d?  
a. 21.5 nr.kP   b. 12 nr.kP   c. 21 nr.kP  
d. 23 nr.kP    e. tpil njhpatpy;iy  
 

13. The difference between simple and compound interest on a certain sum 
of money for 2 years at 2% per annum is ì4. Find the sum of money. 
a. ì 2,000   b. ì 7,500    c. ì 10,000  
d. ì 12,000   e. Answer not known  
2% Mz;L tl;bapy; 2 Mz;Lf;F Xh; mrYf;Ff; fpilj; $l;L tl;bf;Fk; 
jdp tl;bf;Fk; ,ilNaAs;s tpj;jpahrk; ì4 vdpy; mtw;wpd; mry; vd;d?  
a. ì 2,000 b. ì 7,500 c. ì 10,000 d. ì 12,000 e. tpil njhpatpy;iy  
 

14. The difference between the compound interest and simple interest 
accrued on an amount of ì18,000 in two years is ì 405. Then the rate of 
interest per annum is  
a. 12%  b. 15%  c. 18% d. 10%  e. Answer not known  
,U tUlq;fspy; ì18,000 kPjhd $l;L tl;b> jdptl;b Mfpatw;wpd; 
tpj;jpahrk; ì405 vdpy; tUltl;b tPjk;  
a. 12%  b. 15%  c. 18% d. 10% e. tpil njhpatpy;iy  
 

15. Find the rate of interest if the difference between C.I and S.I on ì 8,000 
compounded annually for 2 years is ì 20.  
a. 5%  b. 10%  c. 15% d. 20% e. Answer not known  
ì 8,000 f;F ,uz;L Mz;LfSf;F fpilf;Fk; $l;L tl;bf;Fk;> jdp 
tl;bf;Fk; ,ilNa cs;s tpj;jpahrk; ì20 vdpy; tl;b tPjk; fhz;f.  
a. 5%  b. 10%  c. 15% d. 20%  e. tpil njhpatpy;iy  
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16. Find the principal on amount ì 11,800 at 6% per annum for 3 years being 

simple interest annually. 
a. ì 8,000   b. ì 9,000    c. ì 10,000   
d. ì 9,500    e. Answer not known 
%d;whz;Lfspy; 6% jdptl;b tPjk; nkhj;j njhif ì11,800 mspf;Fk; 
mriyf; fhz;f.  
a. ì 8,000   b. ì 9,000    c. ì 10,000   
d. ì 9,500    e. tpil njhpatpy;iy  
 

17. The value of a machine depreciates at 10% per year. If the present value 
is ì 1,62,000. What is the worth of the machine after two years?  
a. ì 1,29,600   b. ì 1,30,600  c. ì 1,31,600   
d. ì 1,31,220   e. Answer not known 
xU ,ae;jpuj;jdp; jw;Nghija kjpg;G ì 1,62,000. xt;nthU Mz;Lf;Fk; 
,ae;jpuj;jpd; kjpg;G 10% FiwfpwJ. vdpy;> ,uz;L Mz;Lfs; fopj;J 
,t;tpae;jpuj;jpd; kjpg;G vd;d?  
a. ì 1,29,600   b. ì 1,30,600  c. ì 1,31,600   
d. ì 1,31,220    e. tpil njhpatpy;iy  
 

18. A sum of ì 48,000 was lentout at simple interest and at the end of 2 years 
and 3 months the total amount was ì 55,560. Find the rate of interest per 
year. 
a. 7%  b. 8%  c. 9%  d. 10%  e. Answer not known 
fldhf toq;fg;gl;l mry; ì 48>000 f;F 2 Mz;Lfs; 3 khjf; fhyj;jpw;Fg; 
gpd; jdptl;b %yk; ngwg;gl;l nkhj;jf; njhif ì 55>560 Mf ,Ue;jJ 
vdpy; tl;b tPjj;ijf; fhz;f.  
a. 7%  b. 8%  c. 9%  d. 10%  e. tpil njhpatpy;iy  
 

19. Raghul wanted to find the height of a tree in his garden. He checked the 
ratio of his height to his shadow length. It was 4 : 1. He then measured 
the shadow of the tree. It was 15 feet. What was the height of the tree?  
a. 15 feet    b. 30 feet     c. 60 feet   
d. 75 feet    e. Answer not known 
,uhFy; jdJ Njhl;lj;jpy; cs;s xU kuj;jpd; cauj;ij mwpa 
tpUk;gpdhh;. mg;NghJ mth; jdJ cauj;ijAk;> jdJ epoypd; 
ePsj;ijAk; mse;J mJ 4 : 1 vd;w tpfpjj;jy; cs;sij mwpe;jhh;. 
gpd;G kuj;jpd; epfypd; ePsk; 15 mb vdpy;> kuj;jpd; cauk; vd;d?  
a. 15 mb   b. 30 mb    c. 60 mb 
d. 75 mb    e. tpil njhpatpy;iy  
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20. A shop keeper marked the price of an article as 15% more on its cost 

price and than offered 15% reduction for the article, then he got  
a. Profit     b. Loss  c. Neither Profit nor Loss  
d. Profit as well as Loss   e. Answer not known 
xU filf;fhuh; xU nghUspd; mlf;f tpiyapy; 15 rjtPjk; mjpfkhf;fp 
mjd; Fwpj;j tpiy Mf;Ffpwhh;. mjpy; 15 rjtPjk; js;Sgb je;J 
tpw;gid nra;fpwhh; vdpy; filf;fhuh; mile;jJ.  
a. yhgk;    
b. el;lk;   
c. yhgKk; ,y;iy el;lKk; ,y;iy  
d. yhgkhfTk; ,Uf;Fk; el;lkhfTk; ,Uf;Fk;  
e. tpil njhpatpy;iy  
 

21. A hemispherical tank of radius 1.75 m is full of water. It is connected 
with a pipe which empties the tank at the rate of 7 liters per second. How 
much time will it take to empty the tank completely?  
a. 27 minutes   b. 26 minutes    c. 72 minutes   
d. 62 minutes   e. Answer not known 
Muk; 1.75 kP cs;s Xh; miuNfhs tbtj; njhl;b Kw;wpYk; ePuhy; 
epug;gg;gl;Ls;sJ. xu Fohapd; %yk; tpehbf;F 7 ypl;lh; tPjk; 
njhl;bapypUe;J ePh; ntspNaw;wg;gLkhdhy;> njhl;bia vt;tsT Neuj;jpy; 
KOtJkhf fhyp nra;ayhk;?  
a. 27 epkplq;fs;   b. 26 epkplq;fs;  c. 72 epkplq;fs;  
d. 62 epkplq;fs;   e. tpil njhpatpy;iy  
 

22. Find the LCM of (x4 – 1), (x2 – 2x + 1)  
a. (x2 + 1) )x + 1)    b. (x + 1) (x – 1)  
c. (x2 + 1) (x – 1)2    d. (x2 + 1) (x + 1) (x – 1)2  
e. Answer not known 
kP.ngh.k fhz;f.  
a. (x2 + 1) )x + 1)    b. (x + 1) (x – 1)   c. (x2 + 1) (x – 1)2 d. 
(x2 + 1) (x + 1) (x – 1)2   e. tpil njhpatpy;iy  
 

23. Find H.C.F. of (x2y + xy2), (x2 + xy)  
a. x + y  b. xy  c. x(x + y) d. x2 + y2  e. Answer not known 
(x2y + xy2), (x2 + xy) Mfpatw;wpd; kP.ngh.t. fhz;f.  
a. x + y  b. xy  c. x(x + y) d. x2 + y2  e. tpil njhpatpy;iy  
 

24. Simplify: 1 3
5

2 4
  of 8

9
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a. 1
6

4
  b. 1

6
6

 c. 8
6

9
  d. 4

6
8

  e. Answer not known 

RUf;Ff: 1 3
5

2 4
  ,d; 8

9
 

a. 1
6

4
  b. 1

6
6

 c. 8
6

9
  d. 4

6
8

 e. tpil njhpatpy;iy  

 
 
 

25. Simplify: 4 3 5 30 12 27

3 2 3 12 9 16


      

a. 53

12
 b. 43

12
 c. 33

12
  d. 13

12
  e. Answer not known 

RUf;Ff: 4 3 5 30 12 27

3 2 3 12 9 16


      

a. 53

12
 b. 43

12
 c. 33

12
  d. 13

12
  e. tpil njhpatpy;iy  

 
 
 


